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Passage for Question 1, 2, 3,4, 5 (ST-84 BANK PO (51-60) 2016 1644)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

India needs to generate jobs that are formal and productive, provide bang-for-buck in terms of jobs created relative to investment, have the potential for broader
social transformation, and can generate exports and growth. The apparel sector meets all these criteria, making it an excellent vehicle for an employment creation
strategy. The Union cabinet approval for a number of measures to boost the apparel sector is, therefore, a significant policy initiative.

Nearly every successful economic growth take-off in post-war history in East Asia has been associated with rapid expansion in apparel exports in the early stages.
During their growth booms that averaged between 7 and 10 per cent growth, countries registered apparel export growth in excess of 20 per cent per year,
sometimes closer to 50 per cent.

Given their high labour intensity — the highest in any manufacturing sector — apparel also have the greatest potential for employment growth. Every unit of
investment in clothing generates 12 times as many jobs as that in autos and nearly 30 times that in steel. Drawing upon the World Bank employment elasticities, we
estimate that rapid export growth could generate about half a million additional direct jobs every year.

Most significantly, from a social transformation perspective, apparel generate large number of jobs for women, substantially more than in any other sector. On a visit
to one of India’s top textile exporters, women workers spoke about the agency they had gained on financial decisions. The agency also extended to husbands
starting to helping with household chores, including chopping vegetables and making tea! In Bangladesh, female education, total fertility rates, and women’s labour
force participation moved positively due to the expansion of the apparel sector. India’s low and declining female labour force participation could be similarly
boosted by this initiative.

India has an opportunity to promote the apparel industry because of rising wage levels in China that has resulted in China losing market share. India is well
positioned to take advantage of China’s deteriorating competitiveness because wage costs in most Indian states are significantly lower than in China.
Alas, this is not happening, or at least, not enough. The window of opportunity is narrowing and India needs to act fast if it is to regain competitiveness and market
share in apparel. Hence the urgency.But why is India losing out? Several factors play a role.

India’s competitors enjoy better market access by way of zero or lower tariffs to the two major importing markets, namely the US and Europe.
the average tariffs faced by India and its competitors in the US and EU In the US, when Trans-Pacific Partnership goes through, Vietnam will enjoy duty-free access
and India will be disadvantaged in that market too.

In addition, to the external disadvantage, Indian exporting firms face a number of domestic challenges — logistics and de facto labour costs — that render them
less competitive than their peers in competitor countries.

On logistics, India is handicapped relative to competitors in a number of ways. The costs and time involved in getting goods from factory to destination are greater
than those for other countries.

hi Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

India needs to generate jobs that are formal and productive, provide bang-for-buck in terms of jobs created relative to investment, have the potential for broader
social transformation, and can generate exports and growth. The apparel sector meets all these criteria, making it an excellent vehicle for an employment creation
strategy. The Union cabinet approval for a number of measures to boost the apparel sector is, therefore, a significant policy initiative.
Nearly every successful economic growth take-off in post-war history in East Asia has been associated with rapid expansion in apparel exports in the early stages.
During their growth booms that averaged between 7 and 10 per cent growth, countries registered apparel export growth in excess of 20 per cent per year,
sometimes closer to 50 per cent.
Given their high labour intensity — the highest in any manufacturing sector — apparel also have the greatest potential for employment growth. Every unit of
investment in clothing generates 12 times as many jobs as that in autos and nearly 30 times that in steel. Drawing upon the World Bank employment elasticities, we
estimate that rapid export growth could generate about half a million additional direct jobs every year.
Most significantly, from a social transformation perspective, apparel generate large number of jobs for women, substantially more than in any other sector. On a visit
to one of India’s top textile exporters, women workers spoke about the agency they had gained on financial decisions. The agency also extended to husbands
starting to helping with household chores, including chopping vegetables and making tea! In Bangladesh, female education, total fertility rates, and women’s labour
force participation moved positively due to the expansion of the apparel sector. India’s low and declining female labour force participation could be similarly
boosted by this initiative.

India has an opportunity to promote the apparel industry because of rising wage levels in China that has resulted in China losing market share. India is well
positioned to take advantage of China’s deteriorating competitiveness because wage costs in most Indian states are significantly lower than in China.
Alas, this is not happening, or at least, not enough. The window of opportunity is narrowing and India needs to act fast if it is to regain competitiveness and market
share in apparel. Hence the urgency.But why is India losing out? Several factors play a role.

India’s competitors enjoy better market access by way of zero or lower tariffs to the two major importing markets, namely the US and Europe.
the average tariffs faced by India and its competitors in the US and EU In the US, when Trans-Pacific Partnership goes through, Vietnam will enjoy duty-free access
and India will be disadvantaged in that market too.

In addition, to the external disadvantage, Indian exporting firms face a number of domestic challenges — logistics and de facto labour costs — that render them
less competitive than their peers in competitor countries.

On logistics, India is handicapped relative to competitors in a number of ways. The costs and time involved in getting goods from factory to destination are greater
than those for other countries.

Q-1 What the external disadvantage, do the Indian exporting firms face?
eng

01. vehicle for an employment creation strategy. 02. logistics and de facto labour costs that render them less competitive than their peers in competitor
countries.



03.

05.

To make a vehicle for an employment 04. India needs to act fast if it is to regain competitiveness.
creation strategy.

costs and time involved in getting goods
from factory

What the external disadvantage, do the Indian exporting firms face?

01.

03.

05.

vehicle for an employment creation strategy. 02. logistics and de facto labour costs that render them less competitive than their peers in competitor
countries.

To make a vehicle for an employment 04. India needs to act fast if it is to regain competitiveness.
creation strategy.

costs and time involved in getting goods
from factory

Solution for Question 1

The answer lies in the second last paragraph.

The answer lies in the second last paragraph.

Find out which sentence is definitely TRUE according to the passage.

01.

03.

05.

India does not need to generate jobs that  02. Owing to the growth of the apparel sector, the females' participation has grown in a significant way.
are formal and productive.

Indian exporting firms do not face domestic 04. Every unit of investment in clothing generates 22 times as many jobs as that in autos and nearly 50
challenges. times that in steel.

On a visit to one of India’s top textile
exporters, men workers spoke about the
agency they had gained on sports decisions.

Find out which sentence is definitely TRUE according to the passage.

01.

03.

05.

India does not need to generate jobs that  02. Owing to the growth of the apparel sector, the females' participation has grown in a significant way.
are formal and productive.

Indian exporting firms do not face domestic 04. Every unit of investment in clothing generates 22 times as many jobs as that in autos and nearly 50
challenges. times that in steel.

On a visit to one of India’s top textile
exporters, men workers spoke about the
agency they had gained on sports decisions.

Solution for Question 2

e
&

The answer lies in the third paragraph.

The answer lies in the third paragraph.

Find out which sentence is definitely NOT TRUE according to the passage.

01.

03.

05.

The Union cabinet approval for anumber 02. Every unit of investment in clothing generates 12 times as many jobs as that in autos and nearly 30
of measures to boost the apparel sector is, times that in steel.
therefore, a significant policy initiative.

from a social transformation perspective, ~ 04. In order to ensure that India flourishes, lack of consensus among union cabinet is essential.
apparel generate large number of jobs for

women, substantially more than in any other

sector.

India is well positioned to take advantage of
China’s deteriorating competitiveness
because wage costs in most Indian states
are significantly lower than in China

Find out which sentence is definitely NOT TRUE according to the passage?

01.

03.

The Union cabinet approval for a number of 02. Every unit of investment in clothing generates 12 times as many jobs as that in autos and nearly 30
measures to boost the apparel sector is, times that in steel.
therefore, a significant policy initiative.

from a social transformation perspective, ~ 04. In order to ensure that India flourishes, lack of consensus among union cabinet is essential.
apparel generate large number of jobs for

women, substantially more than in any other

sector.



05. India is well positioned to take advantage of
China’s deteriorating competitiveness
because wage costs in most Indian states
are significantly lower than in China

Solution for Question 3

eng The answer lies in the first paragraph.
hi The answer lies in the first paragraph.
Q-4 What according to the passage can be the meaning of the expression “bang for buck” ?
eng
01. Desert someone in difficult straits 02. worth of one’s money or exertion.
03. Extend the limits 04. At the peak of activity
05. Do something unexpected and ingenious
Q-4 What according to the passage can be the meaning of the expression “bang for buck” ?
hi
01. Desert someone in difficult straits 02. Worth of one’s money or exertion.
03. Extend the limits 04. At the peak of activity

05. Do something unexpected and ingenious

Solution for Question 4

eng The meaning of the given expression can be interpreted from the first paragraph.

hi The meaning of the given expression can be interpreted from the first paragraph.

Q-5 Which criteria does apparel sector meet which generate jobs that are formal and productive?
eng

(A) jobs created relative to investment,
(B) have the potential for broader social transformation,
(C) That can generate exports and growth.

01. Only A 02. OnlyB
03. OnlyC 04. Both A and B
05. AllABandC
Q-5 Which criteria does apparel sector meet which generate jobs that are formal and productive?

(A) jobs created relative to investment,
(B) have the potential for broader social transformation,
(C) That can generate exports and growth.

01. Only A 02. OnlyB
03. OnlyC 04. Both AandB
05. AllABandC

Solution for Question 5

eng The answer lies in the first paragraph.

hi The answer lies in the first paragraph.

Passage for Question 6, 7, 8, 9, 10 (ST-97 CWEPOPRE (1-10)2015)
eng Passage

Read the following passage carefully and answer the questions given below it.

The Central government’s decision to extend the interest subvention scheme on bank loans given to land-owning farmers at seven per cent is essentially a welcome
move. This is especially so in a context where there is no real clarity on how the current monsoon will turn out to be, running at a deficit of 7 per cent as it does
currently. With an additional subvention component to encourage timely repayment, farmers can effectively avail themselves of up to Rs. 3 lakh at just 4 per cent
interest. This scheme, basically offering a sort of agricultural subsidy, has been in place since a long time now, with the subvention component fluctuating between

1.5 and 3 per cent. With agricultural yield levels and incomes per acre falling or languishing, the need to extend such loans to farmers at low interest levels admittedly
exists.

However, what is less clear is the purpose for which many of these loans are being put to. The Reserve Bank of India recently initiated an investigation into the
apparent diversion of agricultural loans for unintended purposes. It would appear that farmers' existing debts to money-lenders, weak supervision of credit utilization
and the categorization of gold loans as agricultural loans are creating significant grey areas and avenues for loan amounts to be used for purposes other than farming.
At certain points of the cropping cycle farmers need large amounts of money and they turn to money lenders, who charge high rates of interest and often insist on
their loans-being re-paid first — which forces farmers to divert a part of the subsidized bank loans to repay them. Some farmers put the amounts in fixed deposit




accounts to earn higher interest than what they pay. Most farmers do not earn enough to meet their needs. Including consumption expenditure, and so these loans
serve as an auxiliary source of income. The government needs to recognize the fact that the system of interest subvention will increasingly finance con—sumption
rather than farming, and take one of two steps. It could instruct banks to step up scrutiny on the use of loan it being put to. Or it could rethink the manner in which it
wants to subsidies-farmers. Implementing direct transfers to bank accounts and investing in research and development to bolster crop yields should serve the same
purpose that the low-interest loans currently serve. This step will have the added advantage of potentially improving the plight of farm—ers. The soft loans are a good|
idea that needs to be managed and supervised well in order to ensure that the intended outcomes are ensured, and that they help address actual distress in the field.

hi Passage

Read the following passage carefully and answer the questions given below it. Certain words have been printed in bold to help you locate them while answering
some questions.

However, what is less clear is the purpose for which many of these loans are being put to. The Reserve Bank of India recently initiated an investigation into the
apparent diversion of agricultural loans for unintended purposes. It would appear that farmers' existing debts to money-lenders, weak supervision of credit utilization
and the categorization of gold loans as agricultural loans are creating significant grey areas and avenues for loan amounts to be used for purposes other than farming.
At certain points of the cropping cycle farmers need large amounts of money and they turn to money lenders, who charge high rates of interest and often insist on
their loans-being re-paid first — which forces farmers to divert a part of the subsidized bank loans to repay them. Some farmers put the amounts in fixed deposit
accounts to earn higher interest than what they pay. Most farmers do not earn enough to meet their needs. Including consumption expenditure, and so these loans
serve as an auxiliary source of income. The government needs to recognize the fact that the system of interest subvention will increasingly finance con—sumption
rather than farming, and take one of two steps. It could instruct banks to step up scrutiny on the use of loan it being put to. Or it could rethink the manner in which it
wants to subsidies-farmers. Implementing direct transfers to bank accounts and invest—ing in research and development to bolster crop yields should serve the
same purpose that the low-interest loans currently serve. This step will have the added advantage of potentially improving the plight of farm—ers. The soft loans are
a good idea that needs to be managed and supervised well in order to ensure that the intended outcomes are ensured, and that they help address actual distress in
the field.

Q-6 How do bank loans serve as secondary assistance to farmers?
eng

01. They assist in defining the capability of the 02. They help the farmer in utilising the farming needs.
farmers.

03. They assist the farmers in meeting their day 04. The farmers with eligible income are able to manage income as interest earned from bank.

to day needs.
05. They attain proper credibility in respect to
banking sector.
Q-6 How do bank loans serve as secondary assistance to farmers?

01. They assist in defining the capability of the  02. They help the farmer in utilising the farming needs.
farmers.

03. They assist the farmers in meeting their day 04. The farmers with eligible income are able to manage income as interest earned from bank.
today needs.

0S. They attain proper credibility in respect to
banking sector.

Solution for Question 6
eng The answer can be inferred from the end of the passage.

hi The answer can be inferred from the end of the passage.

Q-7 Which of the following is not a measure of RBI?

01. Itisinitiating a drive to assess the use of ~ 02. It is trying to help the farmers to overcome their financial need.
loans provided to farmers.

03. The government is taking measures to 04. The Government in alliance with RBI is converting loans to gold loan.
provide the farmers with appropriate help.

05.  All except 2
Q-7 Which of the following is not a measure of RBI?

01. Itisinitiating a drive to assess the use of ~ 02. It is trying to help the farmers to overcome their financial need.
loans provided to farmers.

03. The government is taking measures to 04. The Government in alliance with RBI is converting loans to gold loan.
provide the farmers with appropriate help.

05.  All except 2
Solution for Question 7

eng The answer can be inferred after reading the whole passage.

hi The answer can be inferred after reading the whole passage.



eng

‘What is most significant in reference to farmers?

01. They have unintended purposes in respect 02. Farmers need money for crops regularly and that increase their debt.
of loans

03. Some farmers utilize the loan as primary ~ 04. The government is trying its best to finance consumption and farming,
source of income rather than spending it on
crops.

05. The banking sector scrutinizes the need of
the farmers and helps them accordingly.
‘What is most significant in reference to farmers?

01. They have unintended purposes in respect  02. Farmers need money for crops around the clock and that increase their debt.
of loans.

03. Some farmers utilize the loan as primary ~ 04. The government is trying its best to finance consumption and farming.
source of income rather than spending it on
crops.

05. The banking sector scrutinizes the need of
the farmers and helps them accordingly.

Solution for Question 8

eng

hi

Q-9

eng

Q-9

hi

The answer can be inferred from the mid of the second paragraph.

The answer can be inferred from the mid of the second paragraph.

With reference to the passage, state another means of earning for farmers.

01. The loan granted by the bank for 02. The loan amount deposited in the bank.
agriculture.

03. The loan amount granted by the bank but ~ 04. The loan received by the moneylender for agricultural purpose.
not withdrawn to earn the interest.

05. The agricultural loan which can
be converted into gold loan as per the
requirement of the farmer.
With reference to the passage, state another means of earning for farmers.

01. The loan granted by the bank for 02. The loan amount deposited in the bank.
agriculture.

03. The loan amount granted by the bank but ~ 04. The loan received by the moneylender for agricultural purpose.
not withdrawn to earn the interest.

05. The agricultural loan which concept into
gold loan as per the requirement of the
farmer.

Solution for Question 9

eng

hi

Q-10

eng

The answer can be inferred after reading the second paragraph.

The answer can be inferred after reading the second paragraph.

The basic problem for which the loan segment is creating problem is-

01. The gold loans turning out to be agricultural 02. The gold loans assumed to be agricultural loans are evolving new assistance in the economy.
loans are a helping hand in the economy.
03. The gold loans inferred as agricultural loan 04. The agricultural loans and the gold loans are running hand is hand.
are not readily conforming to a set of rules.
0S. The agricultural loans in respect of gold
loans are turning out to be a boon to the
farmers.
The basic problem for which the loan segment is creating problem is-

01. The gold loans turning out to be agricultural 02. The gold loans assumed to be agricultural loans are evolving new assistance in the economy.
loans are a helping hand in the economy.

03. The gold loans inferred as agricultural loan 04. The agricultural loans and the gold loans are running hand is hand.



05.

are not readily conforming to a set of rules.

The agricultural loans in respect of gold
loans are turning out to be a boon to the
farmers.

Solution for Question 10

eng

hi

Q-11

eng

The answer can be inferred after reading the mid of the second paragraph.

The answer can be inferred after reading the mid of the second paragraph.

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01.

03.

05.

The government in Manipur came to power 02. It is always difficult for disparate political forces to come together in the case of hung Assemblies or
despite of the BJP winning only 21 of the 60 Parliament.

Assembly seats, seven short of the

Congress’s 28.

The unseemly to-and-fro movement of 04. Disgruntlement over ministerial positions when cabinet strength is limited to a maximum of 12 berths
legislators from both the ruling coalition and is inevitable.

the Opposition is just an outcome of this

form of alliance building.

All correct

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01.

03.

05.

The government in Manipur came to power 02. It is always difficult for disparate political forces to come together in the case of hung Assemblies or
despite of the BJP winning only 21 of the 60 Parliament.

Assembly seats, seven short of the

Congress’s 28.

The unseemly to-and-fro movement of 04. Disgruntlement over ministerial positions when cabinet strength is limited to a maximum of 12 berths
legislators from both the ruling coalition and is inevitable.

the Opposition is just an outcome of this

form of alliance building.

All correct

Solution for Question 11

eng

hi

Q-12

eng

there should be ‘despite’ in place of ‘despite of* as ‘despite’ does not take any preposition. (Despite= In spite of)

there should be ‘despite’ in place of ‘despite of” as ‘despite’ does not take any preposition. (Despite= In spite of)

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01.

03.

05.

The unrelenting spread of COVID-19 has  02. The “common minimum programme” method which sometimes results in parties resorting to
setted off both mass anxiety and a clamour brinkmanship on issues has been criticised in the past for rendering coalitions unwieldy.
for a panacea.

My daughter has experienced very little of 04. The BJP has retained Manipur after another round of defections, but instability reigns
the world and most of it has only been pain.

All correct

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01.

03.

05.

The unrelenting spread of COVID-19 has  02. The “common minimum programme” method which sometimes results in parties resorting to
setted off both mass anxiety and a clamour brinkmanship on issues has been criticised in the past for rendering coalitions unwieldy.
for a panacea.

My daughter has experienced very little of 04. The BJP has retained Manipur after another round of defections, but instability reigns
the world and most of it has only been pain.

All correct

Solution for Question 12

eng

hi

Q-13

eng

There should be ‘set’ in place of ‘setted’ as ‘set’ itself is third form of verb.

There should be ‘set” in place of ‘setted’ as ‘set’ itself is third form of verb.

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.



01. Despite India and China getting down to
diplomatic negotiations to resolve the issue
of Chinese intrusions in eastern Ladakh, the
on-ground situation does not inspire
confidence about quick results.

03. Satellite images and ground reports indicate
that Chinese troops have set up a much
larger camp with gun positions on Indian
territory in Galwan valley.

05. All correct

02. She began spend countless hours in different hospitals battling her deadly blood cancer.

04. 'When the doctors confirmed that Manvitha’s cancer was back, her parents were devastated, to say
the least.

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01. Despite India and China getting down to
diplomatic negotiations to resolve the issue
of Chinese intrusions in eastern Ladakh, the
on-ground situation does not inspire
confidence about quick results.

03. Satellite images and ground reports indicate
that Chinese troops have set up a much
larger camp with gun positions on Indian
territory in Galwan valley.

05. All correct

Solution for Question 13

eng

hi

Q-14

eng

02. She began spend countless hours in different hospitals battling her deadly blood cancer.

04. When the doctors confirmed that Manvitha’s cancer was back, her parents were devastated, to say
the least.

There should be ‘spending’ in place of ‘spend’ because some transitive verbs (start, begin, keep, avoid, hate, love, stop etc.) take gerund after them.

There should be ‘spending’ in place of ‘spend’ because some transitive verbs (start, begin, keep, avoid, hate, love, stop etc.) take gerund after them.

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01. The Indian radio which was previously
controlled by the British rulers is now free
from the narrow vested interests.

03. Bilateralism is convenient for China, as it’s
always the stronger party in any bilateral
faceoff.

05. All correct

02. The specifics of this case has been verified by the medical team at the concerned hospital.

04. We need to discard our reactive mindset and adopt non-linear tactics that take the other side by
surprise, just as they often catch us napping.

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01. The Indian radio which was previously
controlled by the British rulers is now free
from the narrow vested interests.

03. Bilateralism is convenient for China, as it’s
always the stronger party in any bilateral
faceoff.

05. All correct

Solution for Question 14

eng

hi

Q-15

eng

02. The specifics of this case has been verified by the medical team at the concerned hospital.

04. We need to discard our reactive mindset and adopt non-linear tactics that take the other side by
surprise, just as they often catch us napping.

There should be ‘have’, plural verb in place of ‘has’ because specifics (plural noun) is given.

There should be ‘have’, plural verb in place of ‘has’ because specifics (plural noun) is given.

In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence

and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01. Having received your letter this morning, we 02.
are writing to thank you for the same.

The family’s lack of funds is the only thing standing in the way of his daughter’s recovery.

03. While the linkages are not simplistic, our ~ 04.
turns of phrase do have material effects.

Drugmaker Hetero has received the Drug Controller-General of India (DCGI) approval to

patients in the country.

manufacture and sell its generic version of Gilead’s Remdesivir for the treatment of COVID-19



05.  All correct
In the following question, four sentences have been given which may or may not be grammatically correct. Find out the incorrect sentence
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

01. Having received your letter this morning, we 02.  The family’s lack of funds is the only thing standing in the way of his daughter’s recovery.
are writing to thank you for the same.

03.  While the linkages are not simplistic, our ~ 04. Drugmaker Hetero has received the Drug Controller-General of India (DCGI) approval to
turns of phrase do have material effects. manufacture and sell its generic version of Gilead’s Remdesivir for the treatment of COVID-19
patients in the country.

05. All correct

Solution for Question 15

eng

hi

Q-16

eng

There should be ‘their’ in place of ‘his’ because here, ‘family’ is treated as plural.

There should be ‘their’ in place of ‘his’ because here, ‘family’ is treated as plural.

In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A) Apathy (B) Assiduous (C) Solitude (D) Persevering

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D

In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A) Apathy (B) Assiduous (C) Solitude (D) Persevering

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D

Solution for Question 16

eng

Q-17

eng

Q-17

hi

B-D are almost similar words.

Assiduous (adj)- showing great care and perseverance.

Persevering (adj)- continuing in a course of action despite difficulty or delay in achieving success.
For other options-

Apathy (n)- feelingless.

Solitude (n)- the state or situation of being alone.

B-D are almost similar words.

Assiduous (adj)- showing great care and perseverance.

Persevering (adj)- continuing in a course of action despite difficulty or delay in achieving success.
For other options-

Apathy (n)- feelingless.

Solitude (n)- the state or situation of being alone.

In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A) Disdain (B) Infringe (C) Praise (D) Endeavour

01. A-C 02. B-D
03. B-C 04. C-D
05. A-D

In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A) Disdain (B) Infringe (C) Praise (D) Endeavour

01. A-C 02. B-D
03. B-C 04. C-D
05. A-D



Solution for Question 17

eng A-C are opposite words.
Disdain (n)- the feeling that someone or something is unworthy of one's consideration or respect.
Praise (n)- he expression of approval or admiration for someone or something.
For other options-
Infringe (v)- actively break the terms of (a law, agreement, etc.).
Endeavour (n)- try hard to do or achieve something.

hi A-C are opposite words.
Disdain (n)- the feeling that someone or something is unworthy of one's consideration or respect.
Praise (n)- he expression of approval or admiration for someone or something.
For other options-
Infringe (v)- actively break the terms of (a law, agreement, etc.).
Endeavour (n)- try hard to do or achieve something.

Q-18 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
eng which are most nearly the same or opposite in meaning.

(A) Elegant (B) Eradicate (C) Hinder (D) Exterminate

01. A-B 02. B-D
03. B-C 04. A-C
05. A-D

Q-18 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
hi which are most nearly the same or opposite in meaning.

(A) Elegant (B) Eradicate (C) Hinder (D) Exterminate

01. A-B 02. B-D
03. B-C 04. A-C
05. A-D

Solution for Question 18

eng B-D are almost similar in meaning.
Eradicate (v)- destroy completely; put an end to.
Exterminate (v)- destroy completely.
For other options-
Elegant (adj)- graceful and stylish in appearance or manner.
Hinder (v)- make it difficult for (someone) to do something or for (something) to happen.

hi B-D are almost similar in meaning.
Eradicate (v)- destroy completely; put an end to.
Exterminate (v)- destroy completely.
For other options-
Elegant (adj)- graceful and stylish in appearance or manner.
Hinder (v)- make it difficult for (someone) to do something or for (something) to happen.

Q-19 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
eng which are most nearly the same or opposite in meaning.

(A) Bequest (B) Intimidate (C) Disinherit (D) Composed

01. A-B 02. B-D
03. A-C 04. C-D
05. A-D

Q-19 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
hi which are most nearly the same or opposite in meaning.

(A) Bequest (B) Intimidate (C) Disinherit (D) Composed

01. A-B 02. B-D
03. A-C 04. C-D
05. A-D

Solution for Question 19

eng A-C are opposite words.



Q-20

eng

Bequest (n)- a legacy.

Disinherit (n)- change one's will or take other steps to prevent (someone) from inheriting one's property.
For other options-

Intimidate (v)- frighten or overawe (someone), especially in order to make them do what one wants.
Compose (V)- originate.

A-C are opposite words.

Bequest (n)- a legacy.

Disinherit (n)- change one's will or take other steps to prevent (someone) from inheriting one's property.
For other options-

Intimidate (v)- frighten or overawe (someone), especially in order to make them do what one wants.
Compose (v)- originate.

In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A) Insipid (B) Embezzle (C) Peculate (D) Resentment

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D

In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A) Insipid (B) Embezzle (C) Peculate (D) Resentment

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D

Solution for Question 20

eng

Q-21

eng

Q-21

hi

B-C are most SIMILAR words.

Embezzle (v)- steal or misappropriate (money placed in one's trust or belonging to the organization for which one works).
Peculate (v)- embezzle or steal (money, especially public funds).

For other words-

Insipid (adj)- lacking flavour; weak or tasteless.

Resentment (n)- bitter indignation at having been treated unfairly.

B-C are most SIMILAR words.

Embezzle (v)- steal or misappropriate (money placed in one's trust or belonging to the organization for which one works).
Peculate (v)- embezzle or steal (money, especially public funds).

For other words-

Insipid (adj)- lacking flavour; weak or tasteless.

Resentment (n)- bitter indignation at having been treated unfairly.

In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
to fill in the blanks to make the sentences meaningfully correct.

I. They were arrested as assembly of more than five people at religious places in the state is ------------- in view of the outbreak.
II. Although tobacco ads are , companies get around the ban by sponsoring music shows.
A. averted

B. prohibited
C. complications
D. restrictions

01. OnlyA 02. OnlyB
03. Both AandB 04. BothBandC
05. OnlyC

In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
to fill in the blanks to make the sentences meaningfully correct.

I. They were arrested as assembly of more than five people at religious places in the state is ------------- in view of the outbreak.
I1. Although tobacco ads are , companies get around the ban by sponsoring music shows.
A. averted

B. prohibited



C. complications
D. restrictions

01. OnlyA 02. OnlyB
03. Both A and B 04. BothBandC
05. OnlyC

Solution for Question 21

eng Prohibited (v)- that has been forbidden; banned.

For other options:
Complication (n)- a circumstance that complicates something; a difficulty.

hi Prohibited (v)- that has been forbidden; banned.
For other options:
Complication (n)- a circumstance that complicates something; a difficulty.

Q-22 In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
eng to fill in the blanks to make the sentences meaningfully correct.

I. An eight-year-old girl, who went missing from a wedding reception, was allegedly robbed, ----------- and killed by a man who has now been arrested.
II. Demonstrators claimed they had been ----------------- by police officers.

A. brutalised

B. memorised

C. saved

D. vandalised

01. Only A 02. OnlyB
03. Both AandB 04. BothBand D
05. OnlyC

Q-22 In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
hi to fill in the blanks to make the sentences meaningfully correct.

I. An eight-year-old girl, who went missing from a wedding reception, was allegedly robbed, ----------- and killed by a man who has now been arrested.
II. Demonstrators claimed they had been ----------------- by police officers.

A. brutalised

B. memorised

C. saved

D. vandalised

01. OnlyA 02. OnlyB
03. Both A and B 04. BothBand D
05. OnlyC
Solution for Question 22
eng Brutalise (v)- treat (someone) in a savage and violent way.
For other options:

Vandalize (v)- deliberately destroy or damage (public or private property).

hi Brutalise (v)- treat (someone) in a savage and violent way.
For other options:
Vandalize (v)- deliberately destroy or damage (public or private property).

Q-23 In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
eng to fill in the blanks to make the sentences meaningfully correct.

I. He spent two years in Europe with a private tutor who ------------------- him that it would be a tremendous tonic for him.
II. He would not let himself be into buying the more expensive stereo.

A. mislead

B. persuaded

C. followed

D. doubled



01. Only A 02. OnlyB
03. Both A and B 04. BothBand D

0S. OnlyC
In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
to fill in the blanks to make the sentences meaningfully correct.

1. He spent two years in Europe with a private tutor who ------------------- him that it would be a tremendous tonic for him.

1I. He would not let himself be into buying the more expensive stereo.

A. mislead

B. persuaded
C. followed
D. doubled

01. OnlyA 02. OnlyB
03. Both AandB 04. BothBandD
05. OnlyC

Solution for Question 23

eng

Q-24

eng

Persuade (v)- induce (someone) to do something through reasoning or argument.
For other options:

Mislead (v)- cause (someone) to have a wrong idea or impression.

Double (v)- become twice as much or as many.

Persuade (v)- induce (someone) to do something through reasoning or argument.
For other options:

Mislead (v)- cause (someone) to have a wrong idea or impression.

Double (v)- become twice as much or as many.

In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
to fill in the blanks to make the sentences meaningfully correct.

I. The patient should continue to take about 100 grains a day for at least a fortnight after he is apparently ------------------------ , otherwise a
recrudescence is very probable.

I1. After an excessively tiresome talk with his perpetually ---------- grandfather, he decided to put off until his grandfather’s death the idea of living
permanently abroad.

A. repulsive

B. repugnant

C. convalescent
D. abhorrent

01. Only A 02. OnlyB
03. Both A andB 04. BothBandD

05. OnlyC
In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
to fill in the blanks to make the sentences meaningfully correct.

I. The patient should continue to take about 100 grains a day for at least a fortnight after he is apparently ------------------------ , otherwise a
recrudescence is very probable.

II. After an excessively tiresome talk with his perpetually ---------- grandfather, he decided to put off until his grandfather’s death the idea of living
permanently abroad.

A. repulsive

B. repugnant

C. convalescent
D. abhorrent

01. OnlyA 02. OnlyB
03. Both A and B 04. BothBandD
05. OnlyC

Solution for Question 24

eng

Convalescent (adj)- recovering from an illness or medical treatment.
For other options:-



Q-25

eng

Q-25
hi

Repulsive (adj)- arousing intense distaste or disgust.
Repugnant (adj)-extremely distasteful; unacceptable.
Abhorrent (adj)- inspiring disgust and loathing; repugnant.

Convalescent (adj)- recovering from an illness or medical treatment.
For other options:-

Repulsive (adj)- arousing intense distaste or disgust.

Repugnant (adj)-extremely distasteful; unacceptable.

Abhorrent (adj)- inspiring disgust and loathing; repugnant.

In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
to fill in the blanks to make the sentences meaningfully correct.

I. Rajeev failed in the examination because none of his answers were ------------- to the questions asked.
I1. That conclusion irritated Sheehan and others who contend that scholarship itself is ------------------- to public service.

A. inarticulate
B. pertinent
C. unfriendly
D. relevant

01. Only A 02. OnlyB
03. Both AandB 04. BothBandD

05. OnlyC
In the following question, two sentences with a blank in each are given with four words (A), (B), (C) and (D). Choose the most suitable option
to fill in the blanks to make the sentences meaningfully correct.

I. Rajeev failed in the examination because none of his answers were ------------- to the questions asked.
I1. That conclusion irritated Sheehan and others who contend that scholarship itself is ------------------- to public service.

A. inarticulate
B. pertinent
C. unfriendly
D. relevant

01. Only A 02. OnlyB
03. Both A andB 04. BothBand D
05. OnlyC

Solution for Question 25

eng

Q-26

eng

Pertinent (adj)- relevant or applicable to a particular matter; apposite.
For other options:
Inarticulate (adj)- unable to express one's ideas or feelings clearly or easily.

Pertinent (adj)- relevant or applicable to a particular matter; apposite.
For other options:
Inarticulate (adj)- unable to express one's ideas or feelings clearly or easily.

In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the
correct order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

his parents had died and his grandmother had (A)/ her marriage, her person held for (B)/ at eleven he had a horror of death within six impressionable years,
(C)/ faded off almost imperceptible until, for the first time since (D)/ one day an unquestioned supremacy over her own drawing room (E)

01. CADEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required
In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the
correct order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

his parents had died and his grandmother had (A)/ her marriage, her person held for (B)/ at eleven he had a horror of death within six impressionable years,
(C)/ faded off almost imperceptible until, for the first time since (D)/ one day an unquestioned supremacy over her own drawing room (E)

01. CADEB 02. BDACE
03. BEACD 04. CADBE



05. No arrangement required

Solution for Question 26

eng

hi

Q-27

eng

The right sentence is “At eleven he had a horror of death within six impressionable years, his parents had died and his grandmother had faded off almost
imperceptible until, for the first time since her marriage, her person held for one day an unquestioned supremacy over her own drawing room.”

The right sentence is “At eleven he had a horror of death within six impressionable years, his parents had died and his grandmother had faded off almost
imperceptible until, for the first time since her marriage, her person held for one day an unquestioned supremacy over her own drawing room.”

In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

down to diplomatic negotiations to (A)/ situation does not inspire confidence about quick results (B)/ despite India and China getting (C)/ resolve the issue
of Chinese (D)/ intrusions in eastern Ladakh, the on-ground (E)

01. CADEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required
In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

down to diplomatic negotiations to (A)/ situation does not inspire confidence about quick results (B)/ despite India and China getting (C)/ resolve the issue
of Chinese (D)/ intrusions in eastern Ladakh, the on-ground (E)

01. CADEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required

Solution for Question 27

eng

hi

Q-28

eng

The right sentence is “Despite India and China getting down to diplomatic negotiations to resolve the issue of Chinese intrusions in eastern Ladakh, the on-
ground situation does not inspire confidence about quick results.”

The right sentence is “Despite India and China getting down to diplomatic negotiations to resolve the issue of Chinese intrusions in eastern Ladakh, the on-
ground situation does not inspire confidence about quick results.”

In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

on the diplomatic front we need to break out of (A)/ the bilateralism that has defined India-China relations, (B)/ and speak up forcefully for other countries
such (C)/ as Japan, Vietnam, Taiwan and the Philippines, (D)/ whenever they are harassed by China’s expansionist territorial claims (E)

01. CDAEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required
In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

on the diplomatic front we need to break out of (A)/ the bilateralism that has defined India-China relations, (B)/ and speak up forcefully for other countries
such (C)/ as Japan, Vietnam, Taiwan and the Philippines, (D)/ whenever they are harassed by China’s expansionist territorial claims (E)

01. CDAEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required

Solution for Question 28

eng

hi

Q-29

eng

No arrangement required.

No arrangement required.

In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

modern India the march to (A)/ as much progress as (B)/ equality still has long miles to go, (C)/ and reminders of that are daily in our face (D)/ women
have made in (E)

01. CADEB 02. BDACE



03. BEACD 04. CADBE

05. No arrangement required
In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

modern India the march to (A)/ as much progress as (B)/ equality still has long miles to go, (C)/ and reminders of that are daily in our face (D)/ women
have made in (E)

01. CADEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required

Solution for Question 29

eng

hi

Q-30

eng

The right sentence is “As much progress as women have made in modern India the march to equality still has long miles to go, and reminders of that are
daily in our face.”

The right sentence is “As much progress as women have made in modern India the march to equality still has long miles to go, and reminders of that are
daily in our face.”

In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

other countries including India, (A)/ not only has the #BlackLivesMatter movement (B)/ it has also sparked conversations (C)/ about racism in several
other contexts. (D)/ in the US found support in several (E)

01. CADEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required
In the following question, a sentence is divided into five parts given as (A), (B), (C), (D) and (E) , and given in jumbled order. Find the correct
order of the arrangement from the options given below. If the sentence is given in its correct order choose ‘5’ as your answer.

other countries including India, (A)/ not only has the #BlackLivesMatter movement (B)/ it has also sparked conversations (C)/ about racism in several
other contexts. (D)/ in the US found support in several (E)

01. CADEB 02. BDACE
03. BEACD 04. CADBE

05. No arrangement required

Solution for Question 30

eng

hi

Q-31

eng

The right arrangement is “Not only has the #BlackLivesMatter movement in the US found support in several other countries including India, it has also
sparked conversations about racism in several other contexts.”

The right arrangement is “Not only has the #BlackLivesMatter movement in the US found support in several other countries including India, it has also
sparked conversations about racism in several other contexts.”

In each of these questions a number series is given. In each series, only one number is wrong. Find out the wrong number.

50 51 47 56 42 65 29

01. 51 02. 47
03. 356 04. 42
05. 65

TR ATAFTITR CHFTATHEATITITE G| TeAFH FGATH, TA U G&ITTAT & | TG G&IT HT AT AT

50 51 47 56 42 65 29

01. 51 02. 47
03. 56 04. 42
05. 65

Solution for Question 31

eng



40+5" =65
656" =29
hi 50+17 =51
51-21 =47
47+3 =36
56—4" =40
40+5° =65
656" =29

Q-32 In each of these questions a number series is given. In each series, only one number is wrong. Find out the wrong number.
eng

3 9 23 99 479 2881 20159
01. 9 02. 23

03. 99 04. 479
05. 2881

Q-32 TARIATAFTIIA CFAATHEATITTNE R TAF F@ATH, 79 TH G&ITTAT & | TAT G&IT HTIAT AT

3 9 23 99 479 2881 20159
01. 9 02. 23
03. 99 04. 479
05. 2881
Solution for Question 32
eng The series is
3x2+3=9
9x3-4=23
23 x4+5=097
97 x5—-6=479

479 x 6 + 7 =2881

2881 x7—-8=20159
hi JEATE :

3x2+3=9

9x3-4=23

23 x4+5=97

97 x5-6=479

479 x 6 +7=2881

2881 x7—-8=20159

Q-33 In each of these questions a number series is given. In each series, only one number is wrong. Find out the wrong number.

eng
7 4 6 9 20 52.5 160.5
01. ¢ 02. 4
03. 20 04. 9
05. 5

Q-33 SARATAFTITA CHFAATHEATIT TSI TAF F@ATH, F9A TF G&IATTAT & | TAT G &AT HTIAT A9TY |
hi

7 4 6 9 20 52.5 160.5
01. ¢ 02. 4
03. 20 04. 9
05. 5

Solution for Question 33

eng The seriesis X 0.5+ 0.5, x 1 +1,x1.5+1.5 x2+2,x25+25 x3+3...
Hence, there should be 5 in place of 6.

[ HGAT x 0.5+0.5,x 1+1,x 1.5+ 1.5, x2+2,x25+25 x3+3 ... &l

zafeIT, 6 B TATT W 5 BT AR



Q-34 In each of these questions a number series is given. In each series, only one number is wrong. Find out the wrong number.

eng
1 3 6 11 20 39 70

01. 3 02. 39
03. 11 04. 20
05. 6

Q-34 STTHATAFITA CHFASATHE@ATAT TSI TAF H@ATH, 79 UF G&ATTAA 8| T G AT HT IAT ATG

1 3 6 11 20 39 70

01. 3 02. 39
03. 11 04. 20
05. 6

Solution for Question 34
eng The seriesis 1 x2+1=3,3x2+0=6,6x2—-1=11,11%x2-2=20,20x2-3=37,37x2-4=70.
Hence, there should be 37 in place of 39.

- 8]_'@T~IT 1x2+1=3,3%x2+0=6,6x2-1=11,11%x2-2=20,20x2-3=37,37x2-4=70 |

saferT, 39 & T U 37 BT AIfeU|

Q-35 In each of these questions a number series is given. In each series, only one number is wrong. Find out the wrong number.

eng
2 13 27 113 561 3369 23581

01. 27 02. 13
03. 113 04. 561
05. 3369

Q-35 STTHATATIIACFHFAATHGATIT LRI TAF F@ATH, H9 U G &ATTAT & | TAT G&AT HTIAT A9MY |

2 13 27 113 561 3369 23581

01. 27 02. 13
03. 113 04. 561
05. 3369

Solution for Question 35

eng The seriesis2 x2+7=11,11x3-6=27,27 x4+5,=113, 113 x5-4=561, 561 x 6 + 3 =3369, 3369 x 7 -2 =23581.
Hence, there should be 11 in place of 13

[ 8]:'@3!T2><2+7=11,11X3-6=27,27X4+5,=113,113X5-4=561,561X6+3=3369,3369><7—2=23,581

3Hd: 13 & TIE W 11 Bl @nien|

Q-36 The compound interest earned by Tanishk on a certain amount at the end of two years at the rate of 8 p.c.p.a. was Rs.1414.40. What was the total amount

eng that Tanishk got back at the end of two years in the form of principal plus interest earned?
01. Rs.9914.40 02. Rs.9414.40
03. Rs.9014.40 04. Rs.8914.40

05. None of these
Q-36 8 wfcerd arftie =aTet #¥ 3T F a7 a9 * ofd § v [ afer wv afves grn afSia Fwafa samsr 1414.40 F93 Am) g9 $ii¥ s347s % IR F €9
hi T AW F ST H Al B0 AT (AT At Feor 190 F44 oA1?

01. Rs.9914.40 02. Rs.9414.40
03. Rs.9014.40 04. Rs.8914.40
05. =% T HTE T2

Solution for Question 36



eng Let amount be Rs.100.
Compound interest for the first year = Rs.8
Compound interest for the second year = Rs.8 + Rs.0.64
Total compound interest = Rs.16.64
According to the question,
16.64 =1414.40
1=285
100 = 8500
Total amount = 8500 + 1414.40 = 9914.40

hi HHT ST 100 %, 2 1
TES Y o foTT Tk sATST = %.8
TE Y o fT0 Tohafg saTe = %.8 + %.0.64
FA A5 A = %.16.64
EIIRLELS,
16.64 =%.1414.40
1=%85
100 = %.8500
FeT TN = £.8500 + %.1414.40 = £.9914.40

Q-37 There are two numbers such that the sum of twice the first number and thrice the second number is 300 and the sum of thrice the first number and twice the
eng second number is 265. Which is the larger number?

01. 24 02. 39
03. 85 04. 64
05. 74

Q-37 =T HEATC UHT § o TEe T ST HT FRMT ST THL ST 1 A AT 300 § ST TEAT HEAT T A AT ST AL HE@AT HT AT 265 1 FI A
hi FET TEAT 82

01. 24 02. 39
03. 85 04. 64
05. 74

Solution for Question 37

eng Let first number be x and second number be y.
According to the question,
2x +3y=300 ... (D)
and 3x +2y =265 ... (I)
On solving (I) and (II), we get
x=39,y=74
Larger number = 74

hi HTAT Tt HEAT x TAT T §&ATy % |
TATET,
2x +3y =300 ... (D)
T 3x + 2y =265 ... (II)
() 3T (IT) FT §F FA 9T, §H ITH Fd &
x=39,y=74
FE HE&AT = 74

Q-38 Out of two squares, the perimeter of the first is 12 metres and the perimeter of the second is 5 metres. Find out the perimeter of the third square, whose
eng area is equal to the sum of the areas of the both squares.

01. 24m. 02. 30m.
03. 26m. 04. 72m.

05. None of these
Q-38 A H H, T T IRATT 12 Hex g ofT g 1 7R 5 Wiew 8 | T a1 % TRATT 7 TG 990, ST 8576 41 a9t % 8wl & T0 6
hi ERAEESA

01. 24 4. 02. 304
03. 26 . 04. 72,
05. =% T FIS AT



Solution for Question 38

eng

jam 2y (5
4] 4]
A2 — |l44 —:3.]
16
A =325
Perimeter of the third square =3.25 x 4 =13 m.
& 12y (5Y
4] 14/
A2= (144 +25)
16
A =325

iR ot o afETT = 3.25 x 4 = 13 H,

Q-39 Anushika’s father was 27 years of age when she was born while her mother was 23 years old when her brother 2 years elder than her was born. What is
eng the difference between the ages of her parents?

01. | years 02. 2 years
03. 3years 04. 4years

05. None of these
Q-39  srgowT & fUar 7 39 27 a9 oft 9 a7 977 g off STath IHAr Af 23 F9 AT off ST IHHT qTE ST 399 2 A FET 2, TIT AT AT 3G ATqT-{oar
hi SH H T AT 22

01. 1% 02. 299
03. 397 04. 499
05. =8 F FE Tl

Solution for Question 39

eng Anushika’s age = x (Let)
Anushika’s father age = x + 27
Anushika’s mother age =x +2 +23 =x + 25
Required difference = x + 27 — x — 25 = 2 years

hi ST T ST = x ()
FfvERT o6 foaT ol 3T = x + 27
AR A A AT S = x +2+23 =x +25
il T =x+27 -x - 25=27a%

Q-40 Aashu started an archive shop, a business of gift items by investing Rs. 80000. After six months, Ravi joined him with a capital of Rs. 90000. After 3 years,
eng they earned a profit of Rs. 21700. What was Ravi’s share in the profit?

01. Rs. 11200 02. Rs. 12500
03. Rs. 13200 04. Rs. 10500

05. None of these
Q-40 ST T F. 80000 AT Foh TH HIE ITATT AECAT 01 HTT 6 ATHL 30T LEATT 1 | T Tl & a1g, T IaH . 90000 FT IS 6 1 I 747 | 3

hi FU F7, IR %. 21700 FT ATH AT 7AT | A1 | T Y FREmarT 4 o
01. = 11200 02. % 12500
03. =.13200 04. = 10500
05. =% T FIS AT
Solution for Question 40
eng Ratio between equivalent capitals = 80000 x 36: 90000 x 30 =8 x 6: 9 x 5 =48:45=16: 15
Ravi’s share in the profit :%xﬂ?oo =Rs. 10500
hi Qe 4RI H ST = 80000 x 36: 90000 x 30 =8 x 6: 9 x 5 =48: 45 = 16: 15

wﬁr%ran‘r%wTJix:rm =%.10500

Lad



Q-41

eng

For each of the following questions two statements are given. Use the data of those statements and then determine which of the following
statements is necessary to answer the question.

Find the value of (x+2)2.

Statement I: x2-4=38
Statement I1: The average of 5 numbers- (8, 6, 4, 3x and x-4) is 6.

01. Statement I is sufficient to answer the 02. Statement I1 is sufficient to answer the question.
question.
03. Either Statement I or statement I1 is 04. Neither Statement I nor statement 11 is sufficient to answer the question.

sufficient to answer the question.

0S. Both Statements I and II are necessary to
answer the question.

AafrfEg reas wg s T Faa fRgae g STHFIT F T FTITNT R T TR Aaifa = fFagsrsaea s fay
frafafaa Faai §  FTATATTF

(x+2)% T AT AT ForT?
FITL x°-4=8
FIT [1: 5 HEATSA FT 3Ea- (8, 6, 4, 3x 3T x-4) 6 &

0l. FITITTFTIAT A & fuqara gl 02, FIe [1 T FT 3T & & (o7 9779 2

03. ATAFATIATFAT N TTFTIAT A & 04 I3 FT 3L I & [oIT T AT FHAF 1 3T T &1 FA 11 TT77 g
foro oate 21

05. =7 % 3T 3 forT o [ 3 11 & T
EICERERS]

Solution for Question 41

eng

hi

Q-42

eng

Statement II alone is sufficient to the answer the question.

UH &Pl 3R & & TIU dae HUT 1 73T gl

For each of the following questions two statements are given. Use the data of those statements and then determine which of the following
statements is necessary to answer the question.

What is the present age of A?
Statement I: The ratio of the present age of A and B is 2:3. After 10 years, the ratio of the ages of B and C is 2:1.
Statement I1: 5 years ago the average age of A, B, C is 11 years, and after 3 years, the average age of B and C is 18 years.

01. Statement I is sufficient to answer the 02. Statement I1 is sufficient to answer the question.
question.
03. Either Statement I or statement I1 is 04. Neither Statement I nor statement 11 is sufficient to answer the question.

sufficient to answer the question.

0S. Both Statements I and II are necessary to
answer the question.

AafrfEg s wg s T Faa fRgae | STHIT F T FTITNT R AT IR Aaifa = fragsrsaeas fay
frafafaa ®971 §  FrT a1 a7+ g1

A T FAH AT FAT 82
FIT [ A T B AT FH 1 H7 TITT 2: 3 81 10 TUT F &=, B 3T C H¥ A FT A0 2: 1 2
FATIL: 5 F9 Tg A, B, C T 3 Hq o 11 a9 &, 3T 3 a9 & a1%, B 3T C &Y ofeq a1 18 a9 g

0l. FAF[TIFTIAL A F U aATA Gl 02, FF [I T T I & & o7 937 )

03. FTATFAT AT FAT N TT FTIAT AT & 04, T3 FT 3T & o (o0 T AT FAT [ 3T 7 G FH9 [1 T g
o 7ate 2

05. w57 3 I 3 forT o 1 3T 1L 21
AT ¢

Solution for Question 42

eng

hi

Q-43

Statement II alone is sufficient to the answer the question.

HUT YN BT 3R a7 & forw g &l

For each of the following questions two statements are given. Use the data of those statements and then determine which of the following



eng

statements is necessary to answer the question.

What is the total investment made by three partners - A, B and C?
Statement I: A invested Rs 2000. The ratio of time for A, B and C is 1:2:3.
Statement I1: The total profit is Rs 6000.

01. Statement I is sufficient to answer the 02. Statement II is sufficient to answer the question.
question.
03. Either Statement I or statement II is 04. Neither Statement I nor statement 11 is sufficient to answer the question.

sufficient to answer the question.

0S. Both Statements I and II are necessary to
answer the question.

AafrfEg T F I % AT T FI7 fRgTU | STHAAT F STTHTITA HL AT TR AaiRa s fragFrsaea s fag
Aafafag saai d F s araeaF )

T AR - A, B T C g foraT s &t fRarer foraem 82
FITIL: AT 2000 T2 7 et F7a1 81 A, B 3fi¥ C F forw a9 7 ama 1:2: 3 8
FAT I1: {F ATH 6000 % Z|

01, FITITTFTIALIAF T aaig g1 02, o 11 T57 &7 SL 2 forw aie 21

03. FTATFAT AT FAT N TT FTIAT AT & 04, T3 FT 3T & o (o0 T AT FAT [ 3T 7 5 F2 [1 TITH gl
foro o te 21

05. w1 3 3¢ F {or0 e 13 11 2t
AT ¢

Solution for Question 43

eng

hi

Q-44

eng

Statement I alone is not sufficient to the answer the question and Statement II alone is not sufficient to the answer the question.

UH &l 3 &1 D To0 o d dUa 13X a & I 1937 &)

For each of the following questions two statements are given. Use the data of those statements and then determine which of the following
statements is necessary to answer the question.

Find the rate of interest?
Statement I: The difference between the simple interest and compound interest for 2 years is Rs 800.
Statement I1: The simple interest accrued on the amount Rs 3000 is Rs 500.

01. Statement I is sufficient to answer the 02. Statement II is sufficient to answer the question.
question.
03. Either Statement I or statement II is 04. Neither Statement I nor statement 11 is sufficient to answer the question.

sufficient to answer the question.

05. Both Statements I and II are necessary to
answer the question.

AafrfEg T F I % AT T Fa7 fRgTU | STHAAT F STTFTITATHL AT TR aiRa s fragFrsacea s fag
Aafafag saai d a ST araaeaFs )

TS FT AT HITor?
FIA L 2 FUT o oTT AL ST ST AFG (o SATST 6 A1 7 3a< 800 % 2
FT I1: 3000 FF T TN I AT FATETLT AT 500 T B

01, FITITTFTIALIAF T aatg g1 02, o 11 T57 &7 S 2 forw aie 2

03. FTATFAT AT FAT N TT FTIAT AT & 04, T3 FT 3T & o o0 T AT FAT [ 3T 7 & FH9 [1 TITH g
foro Tt 2

05. o7 3 3T 3 forT o 1 3 1L 21
AT ¢

Solution for Question 44

eng

hi

Q-45

eng

Statement I alone is not sufficient to the answer the question and Statement II alone is not sufficient to the answer the question.

UH & 3R S & fow J @ HIF 1R a & $99 193
For each of the following questions two statements are given. Use the data of those statements and then determine which of the following
statements is necessary to answer the question.

What is the three-digit number?
Statement I: The three-digit number is an exact multiple of eight.



Statement I1: The first and third digits are two.

01. Statement I is sufficient to answer the 02. Statement II is sufficient to answer the question.
question.
03. Either Statement I or statement I1 is 04. Neither Statement I nor statement 11 is sufficient to answer the question.

sufficient to answer the question.

05. Both Statements I and II are necessary to
answer the question.

AafrfEg T F I AT T FI7 fRgTU | STHAAT F STTHTITATHL AT TR aiRa s fragFrsarea s oy
Aafafag saai d F srTaraeaF )

AT Rt T T T 2

FIA I FIT-301T AT 8 FT HEF ONF €
FAT [1: TZAT 3T AT 3F 2 B

01, FITITTFTIALIAF T aatg &1 02, o 11 T57 &7 SL 2 forw aie 21

03. FTATFAT AT FAT N TT FTIAT AT & 04, T3 FT 3T & o (10 T AT FAT [ 3T 7 & F2 [1 TITH gl
foro 7=t 2

05. w1 3 3¢ % {or0 e 13 11 2t
AT ¢

Solution for Question 45

eng

hi

Q-46

eng

Q-46
hi

Statement I alone is not sufficient to the answer the question and Statement II alone is not sufficient to the answer the question.

UH &l 3 &1 D To0 o df dUa 13X a & I 1937 &)

A committee of 5 people is to be formed from among 4 girls and 5 boys. What is the probability that the committee will have less number of boys than
girls?

01. 7/14 02. 7/15
03. 6/13 04. 5/14
05. 7/13

4 FTHAT 3T 5 AEHT % = 5 At v qfAfy a9 S g1 FAr daremr g B afnfy § et £ gomr § gzt S e w7 grit?

01. 7/14 02. 7/15
03. 6/13 04. 5/14
05. 7/13

Solution for Question 46

eng

Q-47

eng

Q-47

hi

Sxl+4x10 5

C, 14
1+4x10 5
C 14

In a class there are 15 more boys than girls. If the numbers of boys is incresed by 10% and the number of girls is also increased by 16% there would be 9
more boys than girls. What is the number of student in the class?

01. 125 02. 140
03. 170 04. 280
05. 265

T FHeAT H AT T T ARt 7 15 ofar g | 7w sr==nr it @war § 10% it g5 7 S siw astmat 7§ 16% F i 6 5 av =i fr
AT AT 7 9 STe & | FedT § et Terantraiat i | 82

01. 125 02. 140
03. 170 04. 280
05. 265

Solution for Question 47

eng

B-G=15

s 10 o 116



Q-48

eng

© 100 100
110(15+G) -116G =900
G =125
B=125+15=140

Total = 125 + 140 = 265
B-G=15

B><£-G><£:
100 100
110(15+ G)-116G =900

G=125
B=125+15=140

9

el = 125 + 140 = 265

A boat sails down the river for 10 km and then up the river for 6 km. The speed of the river flow is 1 Km/hr. What should be the minimum speed of the
boat for the trip to take a maximum of 4 hours ?

01. 3 Km/hr 02. 3.5 Km/hr
03. 4 Km/hr 04. 5 Km/hr

05. Cannot be determined
UF 19 T4 H 9T % G110 Bt ofre f g % forwg 6 Fft weadt g | 7 7<) 7 ey 1 =3 | T/ = § | 9 6 =[aq =31 #7471 gt
FTRT ATl T T AT 4 5 H T 3T S 2

01. 3 freft/eie 02. 3.5 ffi/ere
03. 4 /e 04. 5 /e
05. el w2t foam ST asar 2 |

Solution for Question 48

eng

hi

Q-49

eng

10—6=—1

x+1 x-1

x =4 Km/hr
00 6

koL N |

x+1 x-1

x = 4 fe1/Ee

A shopkeeper listed the price of goods at 30% above the cost price. He sells half the stock at this price, One fourth of the stock at a discount of 15% and
the remaining at 30% discount, his overall profit is-

01. 15%% 02. 15%

03. 04.

15%% 15%%

05. None of these
TF AL aEqAl HT o, TR o7 & 30% ATIF sifend F2arm g1 98 e 7T 1 o7 Jod T a9 qaT gl 1/4 AT H7 15% FT ge Faa aar g
ST QT T 30% T B2 F 1T 99 IqT g1 IH Ff a1 AT gaa?

01. 15%% 02. 15%

03. 15%% 04. 15%%

05,z & A AEF

Solution for Question 49

eng

CP =100
MP =130
Let no. of article to be sold =4

1 1
¢—1 5% ‘L—SO%

260 1105 91



Total SP =260+110.5+91 =461.5
CP =4x100 =400

profit% = 15 %%

hi F T = 100
siferd o = 130
ATET ST AT Feqet it §ear = 4

2 1 1

J 15% |-30%

260 1105 91

A faaT 4o T = 260 + 110.5+ 91 = 461.5
FT T =4 x 100 =400

m%:w%%

Q-50 A and B can complete a work in 15 days and 10 days respectively. They started doing the work together but after 2 days B had to leave and A alone
eng completed the remaining work. The whole work was completed in?

01. 10 02. 15
03. 12 04. 3

05. None of these

Q-50 AT BFA: 15 &1 =¥ 10 &7 § UF F1F T FT T & Sraid U G FIH FHIAT F HT (@47 A 2 [adi & 978 BRI BISATI=T T AT
hi 9oy =T T T T R e oAt # e gar?

01. 10 02. 15
03. 12 04. 8
05. =9H q FIS q5T
Solution for Question 50
eng
i A 13
30
1 B 10
30-5%x2=20
o)
'—0=]0
2
10+2 =12
hi
2 A 15
30
3 B i0
30—-5%x2=20
¥
29 o
2
10+2 =12

Passage for Question 51, 52, 53, 54 (ST-256CRPPOPRE(8-11M)2020)
eng Passage

Study the table chart carefully and answer the questions given beside.

Berait No. of days | Percentage of work c_lone to
they worked complete the project
A 20%
B 10%
¢ 25%
D 15 30%
E 6 15%




hi Passage

TIF ATE FTLATILAH AETTT HL T AT T 757 F SALR|

st litad It el
A 8 20%
B 3 10%
Cc 6 25%
D 15 30%
E 6 15%

Q-51 A and B started doing the work. After 10 days, they both left, and C joined the work. He completed his part of work. Now F completed the remaining
eng work in 16 days. In how many days can F complete whole work?

01. 30 02. 96
03. 48 04. 24

05. None of these
Q-51 AT BT HH HIAT L& w2 2471 10 &A1 F a1, F A1 = T, 3T C FTH H 1A &7 T C 7 SI47 HTH T FT fo>T 3@ F 7 90 7717 16
hi &1 & 727 #7 foram F @@ &1 &1 fohae (&A1 § @7 %7 9961 82

01. 30 02. 96
03. 48 04. 24
05. T & A T

Solution for Question 51

eng A does 20% work in 8 days.
So 100% work in 40 days
B does 10% work in 3 days
So, 100% work in 30 days
1 day work of A and B together is:-
1 1 7}
40 30 120

So in 10 days they completed ; part of the work
12

Now, C completed 25% = l of the work
4
(7 9 1
So now remaining work = 1—| — + - |==
\12 4) 6
F complete 1 work in 16 days,
6

So complete work in 96 days.

hi A20% B 8 feat # &ear ¥
31d: 100% B 40 et & T T ¥
B10% &R 3 feat & &ar ¥
3d: 100% HF 30 AT # X Foha g

A 3R B &1 s o &1 Th @AY H-

1.t _7

40 30 120

AT 10RT & FF FT L AT IR ThaT &
1"!

31a: C 25% B =P Br=_af o
4

e S
AV Ry = 1— L+t |-
\12 4)

| =



Fézﬁnfraﬁ‘rwﬁa"rﬁawaav—crr%,a{a:Wamfr%ﬁ?ﬁﬁawm%l

Q-52 G who can complete whole work in 30 days replaced A and did A’s part of work. He left and then B worked for same number of days as G. If remaining
eng work was completed by M who can do complete work in one-fourth the number of days in which E can complete the work, then in how many days was
the whole work completed?

01. 22 02. 14

03. 21 04. 18

05. 12
Q-52 G 30 faAt & T FTH FT FT T5aT § SAT A Tl 92 [2I7 3T A F F1H &1 1 F374 @M G T F14 e faaw oive fie B 7 3a+ & faei & forg
hi T FFaT T G = fram =m) e & Mg O30T B33 1T o ST E 3T for 7o fRA1 &1 Ush-=vas fod § 927 w9 T 9T 2, ar fhad oAt |

o7 T qT g Am?

01. 22 02. 14

03. 21 04. 18

05. 12

Solution for Question 52

eng A’s part of work =20% =

L | =

So, G did i of work and whole work in 30 days,

l_work inl- x 30 = 6 days

5 £

or,

Now, B also worked for 6 days
B can complete 10% of work in 3 days
So, B can complete 100% work in 30 days

So, in 6 days, B completed 1 of the work

5

Now remaining work =1 _ 1 _1 =

L | 2

&

Now, E can complete 15% 6f the work in 6 days
So, E can complete 100% of the work in 40 days

M can complete the whole work L th of Number of days of E = X x40=10days.
4 4

so, M completed — workin — x10 = 6 days

L | L
L | L

hence, total no. of days=6+6+6=18

A &1 & @1 smr=1

BT 6 At & T o oear &

B, & &1 10%3 f&at & q@ aXar &

3d:, B 100% &1 30 fgat # qur aem
%:,Bsﬁa’iﬁmﬁaﬂ%mwaﬂw

I v wg=g Ll

Lh | s

Emw15%6ﬁﬁﬁaﬂm%|
Hd: E100% B 40 Al & q@r ahyam|
1

qumﬁaﬁEmﬁtm@W$%Wﬁt{ﬂ&ﬂaﬁn=: x40=10days.

3AM 3 B B x10=6 A F @ AR e

L | e

Fd: e fow T QA A FEAT=6+6+6=18

Q-53 If all people divides the work equally. In how many days will the work be completed this way?
eng



01. 20 02. 36.8
03. 38 04. 36.8

05. None of these
Q-53  =fE Ay T 59 &7 F Fw7F T AT Fd 51 39 I F1H A =11 § @ gem

hi
01. 20 02. 36.8
03. 38 04. 36.8
05. o7 & A
Solution for Question 53
eng A - 8 days
B ------- 6 days
C - 4.8 days
| DR 10 days
E ------—-- 8 days

 J— 6 fea

[Gpu— 4.8 e
| J— 10 f&a
 S— 8 feaa

Bl =8+4.8+6+10+8=36.8

Q-54 P is 20% more efficient than B and Q is 60% more efficient than C. They worked together for 5 days and left the work, after which the remaining work
eng was completed by D in-

01. 23 02. 15
03. 04. 1

23

Lad | =
[
o
|

05. None of these
Q-54  P,B T TAATH 20% ATerF FAA € 3T Q, C T AT H 60% ATF HAA | Irai+ 5 faat T wa vy w1 o i e wre o, e amg aw
hi A D T 92T foRaT -

01. 23 02. 15
03. 232 04. 261

3 3
05. =i & F7E

Solution for Question 54

eng As P is 20% more efficiency than B
P can complete the work in 25 days
C can complete the 25% work in 6 days
So, C can complete the whole work in 24 days
As Q is 60% more efficient than B
Q can complete the work in 15 days

5 5 8

?-'._1

=l

'_h|

remaining work =1 2 = s

15 15

D can complete the 30% of work in 15 days
so D can complete the whole work in 50 days

So D does A th of the work in 50><; %
15 1

B St T g S & P, B @ 20% 3T dEipe &
P 25 &l & BT Q@I #T Fepa B
C & &1 25% 6 At & o FHar |
3 QT A 24 AT F HY Fehar B
ST T Q, B ¥ 60% 3% B e ¥
Q T & 15 f&ar & FA HT T B

days

L
(PSR-



Passage for Question 55, 56, 57 (ST-256CRPPOPRE(17-19M)2020)
eng Passage

There are 3 bags containing 3 colored balls — Red, Green and Yellow.

Bag 1 contains

24 green balls. Red balls are 4 more than blue balls. Probability of selecting 1 red ball is 4/13.

Bag 2 contains:

Total balls are 8 more than 7/13 of balls in bag 1. Probability of selecting 1 red ball is 1/3. The ratio of green balls to blue balls is 1 : 2

Bag 3 contains:

Red balls equal total number of green and blue balls in bag 2. Green balls equal total number of green and red balls in bag 2. Probability of selecting 1 blue ball is
3/14.

hi Passage
3 o1 8 o 3 Wi S 2 - @rer, g2 s diem

FT1H arfaa g

24 T 33| AT g FAT AT AT ToAAT H 4 AT §1 1 AT A= F =747 6T FATEAT 4/13 B

FT2F arfaw §:

F/A UG T 13 7/13 T&T T 8 AT &1 | ATA 7 o6 =9I 0T F91aAT 1/3 T ZLT IAaT T ATeAT A7 & 07T 1: 2 3

T3 H arrfa €:

FATA G ST 2 3T ZL 3T Frer 37 ¥ AT AT T HEAT o L 2| F€ T AT A< o7 2 F¥ gL 31T ATA AR T ol SCAT o @< g1 | AT A2 F =747 6T
TATAAT 3/14 B

Q-55 1 ball each is chosen from bag 1 and bag 2, What is the probability that 1 is red and other blue?
eng

01. 15/128 02. 21/115
03. 17/135 04. 25/117

05. 16/109
Q-55  TAF AT 1 ST T2 | 1 g T[T STl 2, FAT FHTAAT ¢ 1o Taelm AT ¥ gaT A1l 52
hi

01. 15/128 02. 21/115
03. 17/135 04. 25/117
05. 16/109

Solution for Question 55

eng Letred = x, so blue=x—4
So ; = i

M+x+(x—4) 13

Solve, x=16

So bag 1: red = 16, green = 24, blue = 12

NEXT:

bag 2: total =8 + _+ 52 — 36
13

green and blue =y and 2y. Let red balls =z
So0z+y+2y=36.....cccceuennnnn... 1)

Now probability of red = i
2

So izl
36 3
Solve, z= 12
From (1),y=8
So bag 2: red = 12, green = 8§, blue =16
NEXT:

bag 3: red = 8+16 = 24, green = 12+8 =20
Blue probability = i
14



. ¢ 2
244 204a 14
Solve, a=12
So bag 3: red = 24, green = 20, blue = 12
Now probability that 1 is red and other blue:
16 16 12 12 25

35 5 36 117
hi AT AT g = x, 37 AT Fg=x—4
x 4

24+ x+(x—4) 13

Ln

T FA W, x=16
3d: 97 1 H: ATl = 16, & =24, Aol = 12

T A W

z=12

(1) q,y=8

3 d9r2 A =12, & =8, Al =16
31dTell:

T AT I = 8+16 =24,

& g =12+8=20

Aot die cnﬁ'oﬁ?n:%

o T
24+20+a 14
F A W a=12
3d: &1 3
A= 24, &1 =20, Al = 12
3Hd: U ATl TUT GEA el e & arfrehar:
16 16 12 12 _ 25

236 52 36 117

L

Q-56 Some green balls are transferred from bag 1 to bag 3. Now probability of choosing a blue ball from bag 3 becomes 3/16. Find the number of remaining
eng balls in bag 1.

01. 60 02. 58
03. 52 04. 48
05. 44

Q-56  TTEL LT AT TGN IO | W7 3 § ST AT STTAT 21 3T /T 3 & et 11 67 (T A T TATEAT 3/16 BT STAT g1 W7 1 F 09 A= 61 Heeaw
hi T A2

01. 60 02. 58
03. 52 04. 48
05. 44
Solution for Question 56
eng blue balls in bag 3 are 12
Let x green balls are transferred.
So '61 2 =% [56 was number of bags in bag 3 before transfer]
56+x

Solve, x =8



So remaining number of balls in bag 1
=52-8=44

i & 3 & el di A w12
AT od & AT x &l 3G TU=aRT v =

%:_;?’zé[aw3ﬁwm@m§assﬁaam

Tl P T x=8
Ha: 97 1 A AV I
=52_8=44

Q-57 Green balls in ratio 4 : 1 from bags 1 and 3 respectively are transferred to bag 4. Also 4 and 8 red balls from bags 1 and 3 respectively. Now probability of

eng choosing green ball from bag 4 is 5/11. Find the number of green balls in bag 4?

01. 12 02. 15

03. 10 04. 9

05. 11
Q-57  FHM: 1 T3 F AT H 4: | 5 STITT | 220 AT BT 9T 4 H T (AT STTAT g FHHT: 1 3T 3 % o7 & 4 30T 8 T a1 [ A7 A ham
hi STTAT g1 319 SRT 4 & ¥ 37 ¥ I3 FA AT FATET 5/11 1 71 4 F g A= ¥ /AT 1 hrforar?

01. 12 02. 15

03. 10 04. 9

05. 11

Solution for Question 57

eng 4x and x = 5x green balls
4+8 = 12 red balls
.. Ox
Sx+12 11
Solve, x =2
5%2 =10 green balls

hi 4x3-ﬁ'TX:5x€-ﬂ'?ﬁﬁ'
448 = 12 AT I

o R
5x+12 11

T B UL, x=2

52=108 g
Q-58 Find the approximate value of the given question mark (?) in each questions given below.
eng )

J1521+ 302197 x6.4=77+224.80-103.05-117.37

01. 1728 02. 2197

03. 1444 04. 2744

05. 1156
Q-58 Find the approximate value of the given question mark (?) in each questions given below.
hi

1521 +3f2197 «6.4 = ?-E'— 224.89-103.05-117.37

01. 1728 02. 2197
03. 1444 04. 2744
05. 1156

Solution for Question 58

eng 39/13x 6=23+224 103 - 117
3x6=213+224_220
18=217+4
M3 =14
2=2744



hi 39/13x 6=23+224 103 - 117
3x6=213+224_220
18=217+4
M3 =14
9=12744

Q-39 Find the approximate value of the given question mark (?) in each questions given below.

eng .
2401 + 493 +81.07x 427 +7.02=3%" + Ja41.02

01. 5 02. 8
03. 4 04. 3
05. 0

Q-59 Find the approximate value of the given question mark (?) in each questions given below.

2401+493+81.07x3f27 +7.02=3"7"+./441.02

01. 5 02. 8
03. 4 04. 3
05. o

Solution for Question 59

eng (49 x 3)/(49 x 81 x 7) =367 = 2]
127 x 7)=36-? +21
3/27=36-7
6-2=-2
7=8

hi (49 x 3)/(49 x 81 x 7)=3(6-7 =21
127 x 7)=36-2 + 21
3/27=36-7
6-2=-2
7=8

Q-60 Find the approximate value of the given question mark (?) in each questions given below.

eng .
5 ) 1
~3060 % 50.97 2.89 +:J720=72+5197
16.78
01. 484 02. 169
03. 289 04. 121

05. 196
Q-60 Find the approximate value of the given question mark (?) in each questions given below.

2 I l
~13969 « 50.97 x 288 +:/720=72+51907
16.78

01. 484 02. 169
03. 289 04. 121
05. 196

Solution for Question 60

= 63 x 51 x3/17x 1/9=212+ 52
63 —52=2172
?7=121

hi 63 %51 x3/17x 1/9=212 452
63— 52 =112
?2=121

Q-61 Find the approximate value of the given question mark (?) in each questions given below.

eng
11.87% of 1200 - ? x 13.8 = _fig5 x 21.02 =- 256



01. —19 02. 18
03. 361 04. 324

05. 19
Q-61 Find the approximate value of the given question mark (?) in each questions given below.

11.87% of 1200 - ? x 13.8 = _fig5 x 21.02 =-256

01. —19 02. 18
03. 361 04. 324
05. 19

Solution for Question 61

eng 12% of 1200 - ? x 14+ figg x 21 =-256
144 - 2 x 21 = - 256
21 x 2=399
?2=19

hi 12% of 1200 - ? x 14+ figg x 21 =-256
144 - 2 x 21 = - 256
21 x 2=399
?2=19

Q-62 Find the approximate value of the given question mark (?) in each questions given below.
eng

. (1687Y =(7.98) |,
o N \ _=iD16
16.87° +136.03+ 7.98°

01. 64 02. 58
03. 56 04. 48
05. 54

Q-62  Find the approximate value of the given question mark (?) in each questions given below.

. (1687) =(7.98) _
O i) B ) B
16.87° +136.03+ 7.98

01. 64 02. 58
03. 356 04. 48
05. 54
Solution for Question 62
eng 22+(16.87-7.98)=6
2+(17-8)=6
2+9=6
7=54
hi 22+(16.87-7.98)=6
2+(17-8)=6
2+9=6
7=54

Q-63 In a test, a candidate secured 336 marks out of maximum marks ‘x’. If the maximum marks ‘x’ were converted into 400 marks, he would have secured
eng 192 marks. What were the maximum marks of the test?

01. 700 02. 750
03. 500 04. 650

05. 800
Q-63  UF THHAT H, UF ITHIGATY 7 ATHAT 31 X' H H 336 30 grierer Fhw) T stferawas ot 'x' F7 400 it § qfiafaa fBham Srar, v $& 192 3% 9
hi BT | TEYEAT 3 STTErshare sish 7T U2

01. 700 02. 750



03. 500 04. 650
05. 800
Solution for Question 63

eng 192 4

336 7

4005~ =700
4

hi 192 4

336 7

4003~ =700
4

Q-64 The ratio between the three angles of a quadrilateral is 1 : 4 : 5 respectively. The value of the fourth angle of the quadrilateral is 60°. What is the difference

eng between the value of the largest and the smallest angles of the quadrilateral?
01. 120 02. 90
03. 110 04. 100

05. None of these
Q-64  TF AT F A BN 6 ST T ST FAL: 12 4: 5 F1 TS 5 AT BT HT AW 60 © F1 FTHT F T8 a8 T TG SIS I 5 AW H F4T (AT
22

01. 120 02. 90
03. 110 04. 100
05,z i TS T

Solution for Question 64

eng 1+4+5=10
10 =300
1=30
5=150
120

hi 1+4+5=10
10 =300
1=30
5=150
120

Q-65 Navya buys a certain number of toys at 12 per Rs 9 and the same number at 18 per Rs 9. If she sells them at 18 per Rs15 does she gain or lose and by
eng what percentage?

01. .. loss 02. 12% gain

(1]

33

(S

03. gain 04. 12% loss

33

%a

[ s

05. None of these
Q-65 =T U Mt g # uid 12 e 9 % § @dadl ¢ o 3aq1 of §ear | 18 ety 9 = & foma 7 oY giad! g a1 98 3= 18 el 155 %
hi Rama & J=t & 7 39 fohaw widverd 1 wmsy 77 21 ST 82

01. 1 g+ 02. 12% T

03. 1 e 04. 12% Tt

Solution for Question 65
eng E 1

45 3

hi 5
];X100=33l°0 G
45 3

o, loss




Passage for Question 66, 67, 68, 69, 70 (ST-256CRPPOPRE(1-5R)2020)
eng Passage

Study the following information carefully and answer the questions given below:

Seven persons Sri, Rik, Tony, Yas, Lov, Maik and Jaik attend the lecture in a week starts from Tuesday to Monday but not necessarily in the same order.

Yas attends the lecture before Lov but not immediatey before. Lov attends the lecture after Thursday. Two persons attend the lecture between Lov and Jaik. Three
persons attend the lecture between Sri and Yas. Sri attends the lecture before Yas. Two persons attend the lecture between Tony and Maik. Maik attends the
lecture after Tony. Tony does not attend the lecture on first day. Maik does not attend the lecture on last day.

hi Passage
fRafafaa raerd &1 eamgd® asgga FL AT FRTag s F sad:

UF qHTE H A7q =t ofY, e, S, a1, 79, " ST STUE Sean F GrHA IF UF TH7E § AT § AN o 8 o fohed STet dai (4 6T w7 | gl
ITH, 99 | Tg ATEATT § ATHA AT § T3 2d T8l gl @d [FATL % I8 ATEATT § AN odT g &1 ATh 9d 3T STAF & J1+ AT H TR o d 8
AT 3T AT F F ATAT H A ATE T Zrd &1 =, T8 Tgel SATSATT § 91T o 8| &7 AT 211 ¥ ATSH % 1 ATATT H TR od gl ATSH
I F 7T AT | T 3T 21 21 Uger {37 =ameame § onfier 921 grar g1 /T sifaw o sameae & afoer 7gf 2rar 21

Q-66 Which of the following person attends the lecture on Tuesday?
eng
01. Sri 02. Rik
03. Toni 04. Maik
05. None of these
Q-66 Rwforfea & & Fi &7 2Af<H AIaT FT ST § TN oal 82
hi
01. =ff 02. =
03. = 04. wrsF
05. 2o & v Y
Solution for Question 66
cug DAYS PERSON
Tuesday Sri
Wednesday Rik
Thursday Tony
Friday Jaik
Saturday Yas
Sunday Maik
Monday Lav
i R | wufea
HdaR i
THaR R
TFAR et
YFAR ki
fFar T
faar ABE
AR CEC
Q-67 If Sri is related to Tony, Jaik is related to Maik, in the same way Tony is related to which of the following?
eng
01. Lav 02. Yas
03. Toni 04. Rik
05. None of these
Q-67 A oy 7 wafer 21 1 &, ST T e TSR A 2, T S S AT ey v # o e i 3
hi

01. 519 02. 19
03. 4T 04. T




0.z & 7S

Solution for Question 67

cng DAYS PERSON
Tuesday Sri
Wednesday Rik
Thursday Tony
Friday Jaik
Saturday Yas
Sunday Maik
Monday Lav
i R | =af¥a
HITTaR i
AR R
TFAR Tt
YFHaR Epcy
yferar ar
R AEF
AR aq

Q-68 Four of the following five are alike in a certain way and hence they form a group. Which one of the following does not belong to that group?

eng
01. Sri-Tuesday 02. Jaik-Friday
03. Tony-Thursday 04. Yas-Saturday
0S. Rik-Monday

Q-68 [Awforfed uf= ® & 17 UF [Mfaa a8a & UF SH 8 S TH0 F UF q9g a9 | (Hetarad §  F19 97 39 94g 7 Saaq T8l g2

01, ft-wrer=re 02. STrh-9GRATE
03. ZT-TFAR 04. - =TT
05. fr-drHam
Solution for Question 68
eng DAYS PERSON
Tuesday Sri
Wednesday Rik
Thursday Tony
Friday Jaik
Saturday Yas
Sunday Maik
Monday Lav
B R T
HIeaR L
AR R+
TFAR T
YFHAR CEE
afaar AT
AR AEF
|AHaR aq

Q-69 How many persons attend the lecture between Lav and Jaik?
eng

01. None 02. One
03. Two 04. Three

0S. More than three
Q-69 T ST STAF F AF AT H Fhael AT «TTHA BT 82



01. 77 75 02. wF
03. a7 04. di
05. o 7 srfer
Solution for Question 69
eng DAYS PERSON
Tuesday Sri
Wednesday Rik
Thursday Tony
Friday Jaik
Saturday Yas
Sunday Maik
Monday Lav
B Rt =t
ATAAR i
AR isd
TFAR =Y
YFAR SaF
afea qr
R AR®
dFar a

Q-70 Tony attends the lecture on which of the following day?

eng
01. Tuesday 02. Friday
03. Thursday 04. Saturday
05. Monday
Q-70 = Fmferfea ® & e fam e | A Sar €2
hi
01. §9 @ 02. gEFaT
03. AT 04. o™
05. IHa™
Solution for Question 70
eng DAYS PERSON
Tuesday Sri
Wednesday Rik
Thursday Tony
Friday Jaik
Saturday Yas
Sunday Maik
Monday Lav
- Rm | =
HTAAR i
AR 53
TFAR acif
YFAT TH
afar are
faar ABE
AR EEC]

Passage for Question 71, 72, 73, 74, 75 (ST-256CRPPOPRE(6-10R)2020)
eng Passage

Study the following information carefully and answer the questions given below:



Eight persons C, Q, T, J, H, W, D and Y are living in eight different floors of a building. The lowermost floor is numbered 1, the one above floor is numbered 2, and
so on till the topmost floor is numbered § but not necessarily in the same order.

Persons name starts with first half of the English alphabetical series lives on even numbered floors and the remaining person lives on odd numbered floors. Two
persons live between H and W. T lives below C. Two persons live between Y and D. Y lives above D. W lives above H. Number of persons live above C is same
as the number of persons live below T. J does not live immediately above or immediately below Y. R lives below J.

hi Passage
Fafafaa ITasrd &1 eamgd® AegaT FL AT gyt F s

MMz =AREC, Q, T,J, H, W, D 3T Y UF THIA I A3 ACRT- 3T HISTAT H TF T 8| T (9=l T ol §&AT 1 g, 39 T Hiorel il §eq7 2 8, 3T oy
TTE TaH FUT T HIST 6T HEAT § 8 Ao STEAT A5t (o6 IHT H4 | gl

F <R fSeeT AT9 ST AVHTAT @1 F Tl g (G0 & 0% ZraT &, TH ST a1l Hiore 9% Tgd @ S A9 SAt<h Eow SeaT areft #iorel 92 ¥8d 2l
Z7 =TF H 3T W 3 1= Tgd 81 T, C ¥ = Tgar g1 ST 341 Y 3T D & &9 Td g1 Y, D % 9T TgaT 81 W, H 3 F9T TgdT 81 C F F¥ T ardl A RRAT
EﬁﬂtﬂTT,aﬁFﬁ%ﬁmﬁrwlmmEﬁutw%wm%l J,Y F T U AT A A T8l Tgar gl R,Jﬁﬁﬁ%@%’l

Q-71  Which of the following person lives immediately above Y?

eng
01. C 02. T
03. H 04. R
05. w

Q-71 fAwfofua & & =9 ==ftw Y % &% 3ow Tgar 82

01. C 02. T
03. H 04. R
05. W

Solution for Question 71

eng

co

RN WAL~
D o|H|Z|=<|n|S |-

=R B (LA [~ | 00
m|O|H|Z|=< NS~

Q-72  How many persons live between Y and R?

eng
01. None 02. 3
03. 2 04. 1
05. 4

Q-72 Y ST R = fraw =t waa 82

hi
0L ST 02. 3

03. 2 04. 1



05. 4
Solution for Question 72

eng

8 J
7 W
6 C
5 Y
4 H
3 I
2 D
1 R
5 8 J
7 W
6 C
5 Y
4 H
3 I
2 D
1 R

Q-73 Which of the following person lives on the lowermost floor?

eng
01. J 02. H
03. D 04. R
05. None
Q-73 = H I FA a1 =AE qa F=F a9 92 TZar g2
hi
01. J 02. H
03. D 04. R
05. =rs =gt
Solution for Question 73
eng 8 J
7 W
6 C
5 Y
4 H
3 il
2 D
1 R
B 8 J
7 W
6 C
5 Y
4 H
3 il
2 D
1 R

Q-74 Four of the following five are alike in a certain way and hence they form a group. Which one of the following does not belong to that group?
eng

01. J-y 02. C-T



03. D-Y 04. H-W

05. R-Y
Q-74 fAfafad of= § & 9w uF AT a8% 7 0F 59 8 o7 890 F UF 94 a91d | Fefeted § & #9736 99 ¥ 94teq T8l 82

01. J-Y 02. C-T
03. D-Y 04. H-W
05. R-Y

Solution for Question 74

eng

PN w s|n| oy |~ ce
D|O|H|I|(=<|n|=|~

=MW o~ |0
D O|H|I|=<|n|=|—

Q-75 If H is related to R, T is related to C, in the same way D is related to which of the following?

eng

01. Y 02. T

03. H 04. W

05. J
Q-75 =T H,REFEET L, T, C & gafdq g, 36T a¥g D, Fer # & form & gaifam 22
hi

01. Y 02. T

03. H 04. W

05. J

Solution for Question 75

eng

RN|lw s|ln|o |~
D|O|H|I|(=<|n|= |~

hi

MW |0 [~ |0
Ol |T|=<|[Nn|S|-



Passage for Question 76, 77, 78 (ST-256CRPPOPRE(11-13R)2020)
eng Passage

Study the following information carefully to answer the given questions:

P+Q — P is the child of Q
P!Q — P is the parent of Q
P@Q — P is brother of Q
P&Q — P is wife of Q
P#Q — P is husband of Q

hi Passage
frgwTast 13T IT F fou e st 1 (9myd s AsgqT a1

P+Q-P, Q& aTTE
P!Q-P,Q&TIHFZ
P@Q-P,QFATER
P&Q-P,QFT Tt &
P#Q-P,Q#FTUME

Q-76 IfE!F#T+J& O @ L, then how is O related to F?
eng

01. Uncle 02. Brother-in-law
03. Daughter-in-law 04. Father-in-law

05. None of these
Q-76 FARE!F#T+J&O0@L,ar0, F ¥ F7 Hafaq g2

hi
01. sier 02. gET-3q-9A1
03. Tfer-za-af 04. wrET-3A-A0
05. =% T IS Al

Solution for Question 76

eng gtk J7 o' L
|
E —T
5 g J o L
|
Fe T

Q-77 IfA+B@C+D&E@ G and C is the wife of H then how is B related to H?
eng

01. Brother-in-law 02. Mother-in-law
03. Sister-in-law 04. Daughter-in-law

05. None of these
Q-77 FRXA+B@C+D&E@ G 3T C, HET I € a1 B, H ¥ &8 Gaad &2

01. geT-za-4A1 02. =9
03. ArEev-za-at 04. sfaz-za-at
05. =% FFHIE T2

Solution for Question 77

eng 2

D|_|E+ G-HI-
|




+ I,_ +
B Cc H
A-Hr-
hi =1 5
) P — E+ (SﬂF
N
B C H
A-hr-

Q-78 IfA!B+D@F!C&E,if B is the son of D, then how is A related to B?
eng

01. Uncle 02. Father
03. Mother 04. Aunt

05. None of these
Q-78 FARA!B+D@F!C&E, IR B,DF AL, AT A, BH F4 Hafad g2

hi
01. 3fer 02. fuqr
03. HTAT 04. 3
05. it i 7S Y
Solution for Question 78
eng . ot £ 42
B C = E +
hi A D+ E +/-
B C T—— E *

Passage for Question 79, 80, 81, 82, 83 (ST-256CRPPOPRE(14-18R)2020)
eng Passage

Read the following information carefully and answer the questions that follow:

Eight persons A, B, D, E, G, H, J and K are sitting in a straight line facing North direction. They have different number of chocolates among 12, 17, 18, 15, 27, 34,
30 and 45 but not necessarily in the same order.

D’s chocolate is a multiple of 6 but not a multiple of 5 and sits to the immediate right of B. One person sits between D and K who has 27 chocolates. K is not a
neighbor of B. The sum of chocolates of D and A is equal to H. G has more chocolates than H and less than B. Two persons sit between K and J. D has more
chocolates than E who does not has 12 chocolates. The number of persons sitting between D and E is same as the number of persons sitting between E and H. The
sum of chocolates of E and the person who sits to the immediate right of E has 49 chocolates.

hi Passage

faafarfaa STasTd 1 s9179 @ 9 st fAeforfaa vt & s9e e

I fRam &t 3i¥ U Hieft @ § sws =AtE A, B, D, E, G, H, I siT K §& 81 3% 9T 12, 17, 18, 15, 27, 34, 30 3f¥ 45 F = ¥ SeRT-37T Tear §
Fihere g Afohe STe<T gt {3 o THT 69 § g

D #T FTHeAE 6 FT IUTF &, AT 5 FT 0T Tl § 3T B F Tl a4 97 g1 U 71k D 3T K % f= Jat €, e a9 27 Fiwae 81 K, B T ISET 78]
g1 D 3T A #iT Fiehele T ART H % J0&2 g1 G % 919 H 7 S8 FAishote g 1T B & FH| &7 ATk K 3T J & 919 # 954 g1 D % 9T E H (e AlFhdie 8,
e 91 12 FtFele 981 g1 D 37T E % ft= 9% =f<pal & &7 E 3T H % 1= 9 AT &1 63T & 999 g1 E % FAlahole Sl §E&AT 3T E F Tohre vt
AT F& =TxE o AThele ht HEAT T TN 49 Tl &

Q-79 Who among the following has 45 chocolates?
eng



01. A 02. D
03. E 04. B
05. H
Q-79 fwforfea & & B a1 45 F(Fore 22
hi
01. A 02. D
03. E 04. B
05. H
Solution for Question 79
eng
No. Of 45 | 18 | 12 | 27 | 15 | 34 | 17 | 30
CHOCOLATES
PERSON B DM AP KDMIEDM| G| I | HD
” T T 12 15 | 34 | 17 | 30
T FET
=#g BT |DT|AT | KT |ET | GT | 1T | HD
Q-80  How many persons sit to the left of G?
eng
01. One 02. Two
03. Three 04. Four
0S. Five
Q-80 G aTd AT fohae =A< 9 82
hi
01. = 02. =7
03. i+ 04. =TT
05. o=
Solution for Question 80
= No. Of 45 | 18 | 12 [ 27 | 15 | 38 | 17 | 30
CHOCOLATES
PERSON B IDPM AT KDMIEDM| G| I | HD
: I T 12 15 | 34 | 17 | 30
T qE&T
e BT |IDDMIAD|IKD | ED| G| I | HP
Q-81  Who among the following sits second to the right of A?
eng
01. The one who has 17 chocolates 02. G
03. The one who is an immediate neighbor of ] 04. The one who has 15 chocolates
05. None of these
Q-81 Awfoafad § & #19 A F 0T AT g7 93471 82
hi

eng

01. 7 & a9 17 FiFae g 02. G
03. =g ST J T Tk T2TET 2 04. 7 S I 15 AFae g
05. =% T FIS AT
Solution for Question 81
No. Of 45 18 12 27 15 34 1. 30
CHOCOLATES
PERSON BN | DT | AN | KD |EM| G| 41T | HY




aiFae | 45 | 18] 12 [ 27 [ 15[ 34 [ 17 | 30

=afeq | BT DT | AT KN [EAX|GD |1 | AT

Q-82 If all the persons are made to sit in the alphabetical order from right end, position of how many persons does not change?
eng

01. None 02. One

03. Three 04. Four

05. Two
Q-82  =fx |t =R & AT X F AVTLHA # ST S0, 1 Fohaer st it feufa 927 agadr g2
hi

01. =< gt 02. TF

03. &9 04. =X

05. 37
Solution for Question 82
eng No. Of 45 [ 18 | 12 [ 27 [ 15 [ 38 | 17 | 30

CHOCOLATES

PERSON BT DT AT KDMIEDT| G| I H

hi

aiFae | 45 | 18] 12 [ 27 [ 15[ 34 [ 17 | 30

=

$r gEar
=f#q | BT DT AT KD |ET|GT | I | HD

Q-83  Whatis the sum of chocolates of A and G?

eng
01. 34 02. 63
03. 51 04. 45
05. 46

Q-83 AT GF Al HT TN FAT 2
hi

01. 34 02. 63
03. 51 04. 45
05. 46

Solution for Question 83

eng No. Of a5 | 18 | 12 [ 27 | 15 | 38 | 17 | 30
CHOCOLATES
PERSON B[ DA|ADN|KDPEDL |G | 1| HA
hi

aiFae | 45 | 18] 12 [ 27 [ 15[ 34 [ 17 | 30

-

$I gEar
=afeq | BT DT | AT KA [EX|GD |11 | AT

Q-84 In a row of 40 students, A is fourteenth from the left end and B is tenth from the right end. How many students are there in between A and F if F is eight to
eng the left of B?

01. 9 02. 11
03. 8 04. 10

05. None of these
Q-84 40Tl AT URE H, A, 10 B Aegdl ¢ oY B IC G T 3941 81 A, F & f=r § fra= g1 € 73 F, B % a0 i< szt g2
hi



eng

01. 9 02. 11

03. 8 04. 10
05. i & FE T
Solution for Question 84
A 8 : B
== 18 <
14 F 10
A 8 : B
= 18 &
14 F 10

Q-85

eng

Study the following information and answer the questions given below:

Among six people — A, B, C, D, E and F each having a different weight who is the third heaviest?
I. Only two people are lighter than D. Only two people are heavier than A. E is lighter than C. B is heavier than only F.
I1. Only three people are lighter than A. B is lighter than D, but not the lightest.

01. The data in statement II alone are sufficient 02. The data even in both statements I and II together are not sufficient to answer the question
to answer the question, while the data in
statement I alone are not sufficient to
answer the question

03. The data either in statement I alone orin ~ 04. The data in statement I alone are sufficient to answer the question, while the data in statement 1T
statement II alone are sufficient to answer alone are not sufficient to answer the question
the question

05. The data in both statements I and 1T
together are necessary to answer the
question

fAafafag St Frasrga R e = e TT wsi F s

TE AR § - A, B, C, D, E 3f¥ F YeIF &7 T a1 &, T Hae AT i g2
I Fa <1 =41k D & g g ot af =41 A F fers 9187 g1 E, C & goT 21 B #ae F & s1fars 9y 81
I A T TAAT | &3 T AN g6 gl B, D & goaT &, AT JaH gl Agl gl

0l. FuqUFRUTUIT I FTITACIAF 02, [T 1L AT FAAT H 2T T7 T 3T a4 F o7 919 981 8
oo qarte €, St o 16 fRw g 2er
5T T I & F o1 I8 A1 &

03. T qT FIT [ ATFAT M FT 2T AFA TF 04, I [ T 32T T FT 3L & o (o107 TITH &, TaTh FAT [1FT T2T 3Tohed T37 T 3T & o (o7
FT I 3 F forg qte § ERIGEEIES

05. 37 &7 IAL o % o0 e 130T 1 2t
FAAT HT ST AALTF &

Solution for Question 85

eng

Q-86

eng

I. C>E>A>D>B>F
. >>A>D>B> OR
D> B>A> > > OR

>D>A>B > >

. C>E>A>D>B>F
II. >>A>D>B> OR
D> B>A> > > OR

>D>A>B > >

Study the following information and answer the questions given below:

In which month (of the same year) did Ronit visit the village?
I. Ronit’s mother correctly remembers that Ronit visit the village after June, but before October and that month had less than 31 days.
I1. Ronit’s father correctly remembers that Ronit visit the village after August, but before December and the month had only 30 days.



01. The data in statement II alone are sufficient 02. The data even in both statements I and II together are not sufficient to answer the question
to answer the question, while the data in
statement I alone are not sufficient to
answer the question

03. The data either in statement I alone orin ~ 04. The data in statement I alone are sufficient to answer the question, while the data in statement 1T
statement 11 alone are sufficient to answer alone are not sufficient to answer the question
the question

0S. The data in both statements I and II
together are necessary to answer the

question
Q-86 fawfafEasrasrd Fraregaa Y s A= fyw T wsrt ¥ S
M At B T (e ) & e e

L. Tifea &7 7t 1 77 27 & 772 2 76 AT S % 97 i orar 8, AT AFay F ugd AT sw wg 6 31 ma i ww fim
I1. TR % 9a7 &1 21 & 972 g 73 T SR % 918 T a1 g, AR [GHaw & 92 3T 39 qei § aad 30 fa7 a1

01. FqNFfRUTUuIarT oy FTSTTaT® 02, 17 11T FAA1 H ST T97 T 3T a4 F o7 9417 981 8
oo garte €, Sl o 16 fRw g 2ar

T T IAL I & (70 TATH qE1 &
03. T AT FIT [T FAT [ FT 2T T T 04, T2 [ T T2T WT FT I & & [oIT TATH g, STk FAF 11 FT TT el T FT 3T 3 % (o107
T I A F forg wate § ERILEEIES

05. sy T I & F forw e [ i< I <=1
FAAT HT ST AALTF &

Passage for Question 87, 88, 89, 90, 91 (ST-256CRPPOPRE(22-26R)2020)
eng Passage

Read the following information carefully and answer the questions that follow:

In a certain code language,

“Retailor fix the price” is coded as “Ju Xa Rn Pk”

“Price going high daily” is coded as “Sa Do Zo Xa”

“Retailor problems increasing daily” is coded as “Do Rn Nb Qr”
“Fix problems reason” is coded as “Nb Ju Cx”

hi Passage
arfaa TTaRTa &7 5377 § 02 SHTST I F S

e fAfera e W A,

"“Retailor fix the price” FT“Ju Xa Rn Pk” % &7 H FIfSq FhaT AT

“Price going high daily” FT "Sa Do Zo Xa" % &7 § FIfed fraT T %

“Retailor problems increasing daily” &Y "Do Rn Nb Qr" % &9 # Fifeq forar g
“Fix problems reason" &1 "Nb Ju Cx" % &7 ¥ Ffeq frar war g

Q-87  Whatis the code for word ‘Retailor’?
eng

01. Rn 02. Qr
03. Ju 04. Pk

05. None of these
Q-87  ‘Retailor’ 9Ts% FT Fl< FAT &2

01. Rn 02. Qr
03. Ju 04. Pk

05. i A TS AT
Solution for Question 87
eng e > . o
Retailor ﬂx the (price) @@El Pk
@ going high dii_l_y Sa Do Zo@j

Reta_[oﬂ problems increasing daily Do @I‘;j__ig. ar
@ problems reason &@Cx




[Retailor] (fix] the ~ (prics)

u(xa)Rn] Pk

going high d_ai_ly

sa Do Zo(Xa)

problems increasing daily
@ problems reason

Do Rnip, ar

NbfJu]cx

Q-88

eng

Which of the following is the code for ‘fix high’?

01. Either3 or4
03. JuZo
05. None of these

Rraferferd & 7 19 “fix high’ & forg Fire 22

01. gTar34T4
03. JuZo

05. g & 7S Y

Solution for Question 88

02.
04.

02.
04.

Rn Xa
SaJu

Rn Xa
Sa Ju

eng

[Retailor] (fix) the ~ (prics)

fu(xa)Rn] Pk

going high d_ai_ly

sa Do Zo(Xa)

problems increasing daily
@ groblems reason

Do Rni, ar

NbfJu]cx

Csale] () he 5

fu(xa)Rn] Pk

going high d_ai_ly

sa Do Zo(Xa)

problems increasing daily
@ groblems reason

Do Rni ar

NbfJu]cx

Q-89

eng

‘Nb’ is the code for which of the following?

01. Reason
03. The

05. Daily
‘Nb’ Ferferfea # & s T s 82

01. Reason
03. The
05. Daﬂy

Solution for Question 89

02.
04.

02.
04.

Problems

Price

Problems
Price

B [Retailor] (fix] the (price) Ju(xa)Rn] Pk
going high d_ai_ly Sa Do Zo
problems increasing daily D_o_i‘g ar
@ groblems reason N=b.@(:x

" [Retailor (fix) the (price) (G Rn] P
going high d_ai_ly Sa Do Zo
problems increasing daily D_o_i‘g ar
@ groblems reason N=b.@(:x

Q-90  What s the code for ‘Reason Going™?

eng



01. CxRn
03. SaCx

05. Cannot be determined

‘Reason Going” % foIT #ire T 52

01. CxRn
03. SaCx
05. fRetfa 72t frar ST asFar g

Solution for Question 90

eng

Q-91

eng

jjx the (price)

02.
04.

02.
04.

Zo Qr
Cx Zo

Zo Qr
Cx Zo

@ going high dgﬂv

sa Do Zo(Xa)

Retailoﬂ problems increasing daily
@ problems reason

Do Rn]ib, ar

NbfJu]cx

jjx the (price)

@ going high dﬂv

sa Do Zo(Xa)

Retailoﬂ problems increasing daily
@ problems reason

Do Rnlib, ar

NbfJu]cx

What is the code for ‘The’?

01. Rn
03. Cx

05. Cannot be determined

“The’ % forT =i #7182

01. Rn
03. Cx
05. fReifia 72t AT s awar g

Solution for Question 91

eng

hi

jjx the (price)

02.
04.

02.
04.

Zo
Pk

Zo
Pk

@ going high dgﬂv

sa Do Zo(Xa)

Retailoﬂ problems increasing daily
@ problems reason

Do Rnlib, ar

NbfJu]cx

jjx the  (price)

@ going high dgﬂy

sa Do Zo(Xa)

Retailoﬂ problems increasing daily
@ problems reason

Do Rnlib, ar

Nb 3] cx

hi Passage

Passage for Question 92, 93, 94, 95, 96 (ST-256CRPPOPRE(27-31R)2020)
eng Passage

Study the following information carefully and answer the question given below it-

Eight persons i.e. J, Q, R, K, T, U, V, and W are seated around a circular table among them only 3 are facing opposite to the center and rest are facing to the
center (not necessarily in the same order).
Q doesn’t sit opposite to both R and J. J sits second to the left of R. Q is not an immediate neighbor of both R and J. One of the immediate neighbors of R faces
opposite direction of R. W sits third to the left of J. U sits second to the left of W. K is not an immediate neighbor of Q. V sits third to the left of K. T and Q face
the same direction as K faces.

frafafag STasTd # 1 sqmgd T stegga w A= Ruagarsreacd-




a3 =RE 74T J, Q, R, K, T, U, V, 3T W TS TATHTT TST o AT AT A5, I S ol 3 Fx o (0T a@d 8 T aThl g ¥ ¥ 3@d 8 (Ter

et fF 3ET w | | gl

Q, R ¥ J T & fAdd 921 F3ar1 g1 J, R F a0 § AL &9 97 F3T g1 Q, R ¥ J AT &1 XA =TT 751 21 R F Feveaw q=if@=i § ¥ u# R F oo
o & TEar g1 W, 1 % 918 | g1 U, W 3 a0 3T g #2019 9% 927 81 K, Q T dohTel T2l A5l g1 V, K & a1 ey #=\ ae a7 81 T3 Q, K%
T f3em § 3= g

Q-92  Who among the following sits second to left of V?

eng
01. R 02. p
03. K 04. W
05. None of these
Q-92 fAwfafad & & #19 V & ard e S2d1 82
hi
01. R 02. p
03. K 04. W
05. it & 7 T
Solution for Question 92
eng P
/'/ [T H\\
4L 0 \\
/K / \
X
N \
o =
] == = }
! / /
L Dy
. il p
=
hi
P
/ \\
X
\_\ 2\
/ =V }
¥ |
\ %
“ _; /_,
R
Q-93 Among the following which of the pair is true?
eng
01. K —inside 02. J—outside
03. R—inside 04. W —inside
05.  All are true
Q-93 wforfed § | %19 a7 99 def 82
hi
01. K —3f=< 02. J-3ET
03. R-3ex 04. W —siEx

05. TfiaeT g
Solution for Question 93

eng

N H \\E‘/ #
A



hi iy
/ ,/ [T -H“\\
L 0
/K \ / \\\
o i
/J — =V
| / \\ }
\ i
\" ) Y
\\‘m:h_f/ <
Q-94  Who among the following sits exactly between W and U?
eng
01. K 02. None
03. R 04. ]
05. v
Q-94 fEffET T+ W eliT UF 2% o1 § J271 22
hi
01 K 02. Fré TS
03. R 04. J
05. v
Solution for Question 94
/ / [T -H\\\
L 0
/K \ / \\\
: i
/J — =V
| / \\ }
\ i
N 4
\“»»-__:E_,_,/ <
hi iy
/ " [T H\\\
iR 0
/K \ / \\\
/J = = v)
\ / \\
L i
\ U _’ w
\\‘m:i_g/ <
Q-95  Wis facing in which direction?
eng
01. Outside the centre 02. Inside the centre
03. Same as V faces 04. Both (1) and (2)
05. None of these
Q-95 WwWhERmAIT RIS
hi
01. F3 % TR 02. FgzF A<
03. V3 =T fom & 04. =TT (1) AT (2)
05. =% T e TE
Solution for Question 95
/ - [T H“x\
L 0
/K \ / \\\
i i
./J N . =V




\ / \\ \y’j

/ —_
i}

Q-96 What is the position of W with respect to Q when in counted clockwise direction from Q?
eng

01. Immediate right 02. Immediate left
03. Second to the right 04. Second to the left

05. None of these
Q-96 QF TaEyw H W At Rufy a7 & 513 Q & =feromad ferr # fmw s &2

01. @'{—crm'q 02. @{—qrarrq
03. E'I"'{§FRT 04. am;r;w
05. =® FF1E TE

Solution for Question 96

eng

\ / \\ ?'};f’f

/ —
i}

Q-97 Study the following questions and answering the questions referring to the word sequence given below:

en
& SPY ROF UJZ VKE TQG WLB

When first and third letter of each word is interchanged, then how many meaning full word will be formed?

01. Three 02. Two
03. One 04. Five

05. None of these
Q-97 fAufafag vl T AsggaT F: HTA= FAUATASTHFA FTHIH T GUTAT FTITACR:

SPY ROF UJZ VKE TQG WLB
ST T 9758 % Tl ST Y ST T ST H Fa (AT ST &, AT ey areiqof ersg awr?



01. &= 02. =¥
03. % 04. Tt
05. =7H &S TEH

Solution for Question 97

eng

Q-98

eng

SPY ROF UJZ VKE TQG WLB
YPS FOR ZJU EKV GQT BLW

SPY ROF UJZ VKE TQG WLB
YPS FOR ZJU EKV GQT BLW

Study the following questions and answering the questions referring to the word sequence given below:
SPY ROF UJZ VKE TQG WLB

If each Consonant is changed to the previous letter in alphabetical series and each vowel is changed to the next letter in alphabetical series, then How many
words contain at most two vowels?

01. None 02. Two
03. One 04. Three

05. None of these
et vt 1 Asgga L S THi= frgarr ass wg FTHEIH T gUIAT FTIAC:

SPY ROF UJZ VKE TQG WLB

T T S T AVHTAT @AT | [Tl a7 § T8 (23T ST1aT ¢ 3T YT a2 7 AUHTAT @1 | o9 7647 § Faf g7 Srav &, av
srferster fohaer oreg § a7 TA¥ 82

01, #7$ 02. 3y
03. u= 04. HiF
05. =1 F1E TEH

Solution for Question 98

eng

Q-99

eng

Q-99
hi

SPY ROF UJZ VKE TQG WLB
ROX QPE VIY UJF SPF VKA

SPY ROF UJZ VKE TQG WLB
ROX QPE VIY UJF SPF VKA

Study the following questions and answering the questions referring to the word sequence given below:
SPY ROF UJZ VKE TQG WLB

If words are arranged according to the alphabetical series from left to right, which word is fourth from the right end?

01. ROF 02. Spy
03. TQG 04. UIZ
05. WLB

fraforfaa ot FTasgga R s vHAi= fRgag ass FT FTEIH T gUTAT FTIACE:
SPY ROF UJZ VKE TQG WLB

T2 9TeaT T AT0 | IT0 T AUHTAT @AT 6 FTHATE AG AT THAT ST &, T FHI AT 9758 20 S T FAT 82

01. ROF 02. SPY
03. TQG 04. UIZ
05. WLB

Solution for Question 99

eng

SPY ROF UJZ VKE TQG WLB

ROF SPY TQG UJZ VKE WLB



hi SPY ROF UJZ VKE TQG WLB

ROF SPY TQG UJZ VKE WLB

Q-100 Study the following questions and answering the questions referring to the word sequence given below:

en
& SPY ROF UJZ VKE TQG WLB

If each letter in each word is arranged according to the alphabetical series from left to right, and then first and second letter are interchanged in each word
then how many meaning full word will be formed?

01. One 02. Two
03. None 04. More than three

05. None of these
Q-100 frufafag vt FTAsggT R A= AT AT ASTFAFTHEIH T UTAT FTIACR:

SPY ROF UJZ VKE TQG WLB

T T 5% H TAF T Tl a70 & ZT0 AVHTAT AT o STTATE AT AT SATaT &, o7 7 el oea § Tge 3T THY 781 1 e §

Fae & STaT € ar a7 9ot 9rex a?

01. uw 02. =7

03. =rTar 04. = & srfer
05. =H FF1E TE

Solution for Question 100

eng SPY ROF UJZ VKE TQG WLB
PSY FOR JUZ EKV GQT BLW

SPY OFR UJZ KEV OGT LBW

hi SPY ROF UJZ VKE TQG WLB

PSY FOR JUZ EKV GQT BLW

n
U
<

OFR UJZ KEV OGT LBW



